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The following Table - | shows the percentage distribution of overseas tourist traffic from India to different Countries and Table-ll shows
the percentage distribution of overseas tourist traffic from India according to their age during the year 2022. Based on the data in the
tables, answer the questions that follow.

Table - | Country-wise Distribution of Indian Overseas Tourists

Country
Japan U3A UK QOthers
30% 40% 10% 0%

Table - Il Age-wise Distribution of Indian Overseas Tourists

Age group

<Dyears | [30-40)years [A050) Years | 250 years
15% 15% 0% 0%

Whera [L-M) yaars means age is = Lyaars and < M years

Sub questions

Question Number : 1 Question Id : 22742713477 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
If the tourist traffic from India to USA is 165000 more than that of UK then what is the difference between the Indian overseas tounist traffic in the

age group of [40-50) years and [30-40) years?

1.72500
2.21500
3.93000
4.42000

Options :

22742752501. 1
22742752502. 2
22742752503. 3

22742752504. 4



Question Number : 2 Question Id : 22742713478 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The ratio of the number of Indian tourists who went to USA to the number of Indian tourists who went abroad and were below 40 years of age, is
1H

283

338

443

Options:

22742752505. 1

22742752506. 2

22742752507. 3

22742752508. 4

Question Number : 3 Question Id : 22742713479 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

amongst ather countries, Switzerland accounted for 25% of the Indian tourist traffic and a total of 25 lakh Indian tourists had gone to
Switzerland during the year, then the number of [30-40) years old Indian tourists who went abroad in that year is

1.18.75 lakh

2 25 lakh

375 lakh

4 50 lakh

Options:
227427525009. 1
22742752510. 2
22742752511.3

22742752512. 4



Question Number : 4 Question Id : 22742713480 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

Ifthe total number of Indian tourists who went abroad to countries other than Japan, USA and UK was 3 lakhs in 2022, then what was the
volume of Indian tourists to USAin that year?

1.10lakhs

2.6 lakns

3.6 lakns

412 lakhs

Options :
22742752513. 1
22742752514. 2
22742752515.3

22742752516. 4

Question Number : 5 Question Id : 22742713481 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

Consider that the total number of Indian tourists who went to Japan in 2022 was 24000. fA s the number of Indian tourists who went o UK and
Bis the number of Indian overseas tourists who were =50 years old then (A, B) =

2000, 25000)
6000, 30000)
7000, 35000)

(
(
(
(6000, 40000)

1.
2
3
4
Options :

22742752517. 1
22742752518. 2
22742752519. 3

22742752520. 4



Question Id : 22742713476 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (1 to 5)

Question Label : Comprehension
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Sub questions

Question Number : 1 Question Id : 22742713477 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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22742752501.1
22742752502. 2
22742752503. 3

22742752504. 4

Question Number : 2 Question Id : 22742713478 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742752505. 1

22742752506. 2

22742752507. 3

22742752508. 4

Question Number : 3 Question Id : 22742713479 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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22742752509. 1



22742752510. 2
22742752511. 3

22742752512. 4

Question Number : 4 Question Id : 22742713480 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

T 98 2020 4, 4 .U R . § 0 o o e Rl pl oo g 5 7 4 9 U . 0. T M ! 4l el an
T (S e 2 2

1.10 4
28719
3609
41274

Options :
22742752513. 1
22742752514. 2

22742752515. 3

22742752516. 4

Question Number : 5 Question Id : 22742713481 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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22742752517. 1



22742752518. 2
22742752519. 3

22742752520. 4

Sub-Section Number : 2
Sub-Section Id : 227427530
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 22742713482 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Ateacher’s belief that he or she can reach even the most difficult students and help them leam is called

1. Teacher's knowledge

2. Teacher’s understanding
3. Teacher’s sense of efficacy
4 Teacher's seli-perception

Options :

22742752521. 1
22742752522. 2
22742752523. 3

22742752524. 4

Question Number : 6 Question Id : 22742713482 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742752521. 1
22742752522, 2
22742752523. 3

22742752524. 4

Question Number : 7 Question Id : 22742713483 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements:

Statement |: Flip (ICT tool) allows users to record and share short video responses

Statement II: Flip (ICT tool) is primarily used for video discussions and presentations.

In light of the above statements, choose the most appropriate answer from the options given below

1. Both statement | and Statement |l are correct

2. Both statement | and Statement || are incorrect
J. statement | is correct but statement Il is incorrect
4 statement | incorrect but statement Il is correct

Options :

22742752525. 1
22742752526. 2
22742752527. 3

22742752528. 4

Question Number : 7 Question Id : 22742713483 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742752525. 1
22742752526. 2
22742752527.3
22742752528. 4

Question Number : 8 Question Id : 22742713484 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements:

Statement |- In Jigsaw, each student in a group Is expected to specialize in one aspect of learning task.
Statement Il The major focus of the group investigation strategy is on the development of inquiry skills.
In light of the above statements, choose the most appropriate answer from the options given below

1. Both statement | and Statement |l are correct

2. Both statement | and Statement |l are incorrect
3. statement | is correct but statement Il is incorrect
4 statement | incorrect but statement Il is correct

Options:
22742752529. 1
22742752530. 2

22742752531. 3



22742752532. 4

Question Number : 8 Question Id : 22742713484 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742752529. 1
22742752530. 2
22742752531. 3

22742752532. 4

Question Number : 9 Question Id : 22742713485 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements:
Statement |: Implicit memory refers to intentional or conscious recollection of information.

Statement [1; Explicit memory refers to memories people are not consciousy aware of. but that can affect their subsequent performance and
behaviour

In ight of the ahove statements, choose the most approprate answer from the options given below

1. Both statement | and Statement |l are correct

2 Both statement | and Statement Il are incorrect
3. statement | is correct but statement Il is incorrect
4 statement | incomect but statement Il is correct

Options :

22742752533, 1
22742752534. 2
22742752535. 3
22742752536. 4

Question Number : 9 Question Id : 22742713485 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options:
22742752533. 1

22742752534. 2



22742752535. 3

22742752536. 4

Question Number : 10 Question Id : 22742713486 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Schuman'’s model 1s an example of which type of teaching model?

- Personal Basis Model

. Behaviour Altering Model
_Information Development Model
_ Social Interaction Model

[

=

Options:

22742752537. 1
22742752538. 2
22742752539.3

22742752540. 4

Question Number : 10 Question Id : 22742713486 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742752537. 1
22742752538. 2
22742752539. 3
22742752540. 4



Question Number : 11 Question Id : 22742713487 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

The purpose of theory Is o generate hypotheses that can be tested and that will thereby allow explanation of laws to be assessed. The above
statement refers to the principle of

1. Objectivism

2. Constructionism

3. Inductivism

4 Deductivism
Options:
22742752541. 1
22742752542. 2
22742752543. 3

22742752544. 4

Question Number : 11 Question Id : 22742713487 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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22742752541. 1
22742752542, 2
22742752543. 3

22742752544, 4



Question Number : 12 Question Id : 22742713488 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The degree to which the measure of a concept truly reflects that concept, refers to

1. Ecological fallacy

2. Measurement validity
3. Ecological validity

4 External validity
Options:
22742752545, 1
22742752546. 2
22742752547. 3

22742752548. 4

Question Number : 12 Question Id : 22742713488 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742752545. 1
22742752546. 2
22742752547. 3

22742752548. 4

Question Number : 13 Question Id : 22742713489 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Correlation coefficients (r) along with their respective p-values are given. Identify the two most significant correlation coefficients from the
following:

A =077 p=0.25

B.r=061,p=0.01

C.r=0 41, p=0.59

D.1=0.37,p=003

Choose the correct answer from the options given below:

1. Aand B only
2. Aand C only
3. Band D only
4 Cand D only

Options :

22742752549. 1
22742752550. 2
22742752551. 3

22742752552. 4

Question Number : 13 Question Id : 22742713489 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
22742752549. 1
22742752550. 2
22742752551, 3

22742752552. 4

Question Number : 14 Question Id : 22742713490 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following test statistics is useful for conducting Analysis of Variance?

1. F
2.1
3. Chi square
4 7

Options:

22742752553. 1
22742752554, 2
22742752555. 3

22742752556. 4



Question Number : 14 Question Id : 22742713490 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:
22742752553. 1
22742752554. 2
22742752555. 3

22742752556. 4

Question Number : 15 Question Id : 22742713491 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



According fo UGC regulations 2018 for Prevention of Plagiarism, which among the following similarities would constitute Level 3 plagiarism?
A 38%

B.45%

C. 4%

D.63%

EN%

Choose the correct answer from the options given below:

1. Aand B only
2.8, Cand D only
3.Dand E only

4. Eonly

Options :

22742752557. 1
22742752558. 2
22742752559. 3

22742752560. 4

Question Number : 15 Question Id : 22742713491 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
22742752557. 1
22742752558, 2
227427525509. 3

22742752560. 4

Question Number : 16 Question Id : 22742713492 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The content and the outcome of an interaction together constitute

. Physical order
. Secret order

. Political order
. Textual order

L

F =N

Options:

22742752561. 1
22742752562. 2
22742752563.3

22742752564. 4



Question Number : 16 Question Id : 22742713492 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742752561. 1
22742752562. 2
22742752563.3

22742752564. 4

Question Number : 17 Question Id : 22742713493 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

From the communication viewpoint, Adi Shankara's philosophical concept provides primacy to

Personal ego
Materialistic desires
- Self-consciousness
- Social conflicts

[ N

S

Options :

22742752565. 1
22742752566. 2
22742752567. 3

22742752568. 4

Question Number : 17 Question Id : 22742713493 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
22742752565. 1
22742752566. 2
22742752567. 3

22742752568. 4

Question Number : 18 Question Id : 22742713494 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following are the two basic psychological functions of intra-personal communication?
A_Internalisation of culturally organised ways of thinking

B. Promotion of leader centric speech

C. Regulation of one’s own mental activity

D. Orientation towards enhancing social disorders

Choose the correct answer from the options given below:

1. Aand B only
2 Aand C only
3. B and C only
4 Cand D only

Options:

22742752569. 1



22742752570. 2
22742752571. 3
22742752572. 4

Question Number : 18 Question Id : 22742713494 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742752569. 1
22742752570. 2
22742752571.3

22742752572. 4

Question Number : 19 Question Id : 22742713495 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements:

Statement |- In mass communication, ihe message is rapid and public

Statement [I: New technology has blurred the distinction between inter-personal communication and mass communication
Choose the correct answer from the options given below:

1. Both statement | and Statement Il are correct

2. Both statement | and Statement [ are incorrect
3. statement | is correct but statement Il is incorrect
4 statement | incorrect but statement Il is correct

Options :

227427525731
22742752574. 2
22742752575. 3
22742752576. 4

Question Number : 19 Question Id : 22742713495 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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22742752573. 1

22742752574. 2



22742752575. 3
22742752576. 4

Question Number : 20 Question Id : 22742713496 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

List -1 List -1l

(Communication model) |(Description)

A Linear |. Communication as interaction

B. Circular II. Communication as transaction

C. Mon - Linear 1. Model of Communication models
D. Meta V. Communication as action

1. A-ILB-IlLC-Ill,D-IV

2ZA-IILB-IILC-IV D-
JA-IILB-V,C-1,D-I

I

A-IV,B-I,C-1l.D-1l

Options :

22742752577. 1
22742752578. 2
22742752579. 3
22742752580. 4

Question Number : 20 Question Id : 22742713496 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



! - &1 g - gHfad Pt

It -l It -l

(FEm JisT) @ui)

A TEHT |. VT, ST [ohdT & &9 |
B. 9@ Il S, TH-g & BH H

C. TRy I11. TS0 "igal @ "Aisd

D. aff¥ (#Fem) IV, EIY0 & % w0 §

d feu e famedl | ¥ wgl SR g :

1.A-1,B-1I,C-lll, D-IV
2 A-1ILB-ILC-IV,D-I
3A-IILB-V,C—-1.D-I
4 A-IVB-1,C—II,D-1I
Options :

22742752577. 1
22742752578. 2
22742752579. 3

22742752580. 4

Question Number : 21 Question Id : 22742713497 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

It takes 10 men to finish a work In 2 days. Four (4) men started to execute the work but after one (1) day. 3 of them left, How many days it will
take the lone man to finish the remaining work?

Options :

22742752581. 1
22742752582. 2
22742752583. 3

22742752584. 4



Question Number : 21 Question Id : 22742713497 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
T &7 e A T 5 10 Rt 14 W 5 e ol 6 0 o 0 79 93 916 0 ) WO A
T 0 X9 7 1 T G A et Fd i 2

Options:

22742752581. 1
22742752582. 2
22742752583. 3

22742752584. 4

Question Number : 22 Question Id : 22742713498 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In a certain coding scheme

‘India is a growing economic power in world' is writen as ‘ba, fa, ga, si, na, wa, ta, mo’
‘Population of India is growing' is written as ’ja, ka, ba, si, ga’

‘Culture of India is soft power’ is written as ‘sa, ka, si, ba, la, wa’

What are the codes for ‘power’ and “of ?

1. wa, ka
2.wa, ba
3. ka, ba
4 wa, si

Options :



22742752585. 1
22742752586. 2
22742752587. 3
22742752588. 4

Question Number : 22 Question Id : 22742713498 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
CAGPREStER
Ry Are em e ufdd e @l o1 GBI M @ 1 I a1 AT & TUH GEr S g,

‘YR & T9E IHAF & &1 1 &1 & O M@ U H e aar g,

YR S GPpid Jg o o' DI F1, D198, & &0 H @1 <ar g,
Widq 9 Br AL F P g 2

1.9 ®I
2.9 d
3. @I dl
4 91 i

Options :

22742752585. 1
22742752586. 2
22742752587. 3
22742752588. 4

Question Number : 23 Question Id : 22742713499 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Find the missing term in the following letter series

AMZ, BLY, CNX, DKW, EOV, ............7?

L =
M
=

o
2]
A
ey

Options :

22742752589. 1
22742752590. 2
22742752591. 3

22742752592. 4

Question Number : 23 Question Id : 22742713499 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
9 21&R @ H Il Ug &1 Gl TRy ;

AMZ, BLY, CNX, DKW, EOV, ............7?

R
M
=

e
T
A
ey

Options:

22742752589. 1
22742752590. 2
22742752591.3
22742752592. 4

Question Number : 24 Question Id : 22742713500 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0



Correct Marks : 2 Wrong Marks : 0

Time taken by & motor boat moving downstraam in a river to cover a distance and time taken by the motor boat to cover the same distance
upstream are in the ratio of 3. If speed of stream i 10 km/hr what is the speed of boat?

1.20 km/hr

225 kmihr

330 kmihr

4 40kmihr

Options :
22742752593, 1
22742752594, 2
22742752595. 3

22742752596. 4

Question Number : 24 Question Id : 22742713500 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

% TR 101 1 0 ST o % U G 0 e 9 4 ST e o o 0 5 ) 1 0 35 6 o & 81 G ¢
B 106 A et o o i ol 2

1.20 {6 e
225 T0 g
330 {6 g
4 40fa g
Options :
22742752593, 1
22742752594, 2
22742752595, 3

22742752596. 4

Question Number : 25 Question Id : 22742713501 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0
A Person sells an item at a discount of 40% and still makes a profit of 20%. By what parcentage was the marked price of the item more than the

cost price of the item?

1.50%

2.100%

3.150%

4 120%.

Options :
22742752597. 1
22742752598. 2
22742752599. 3

22742752600. 4

Question Number : 25 Question Id : 22742713501 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T idkt U %] 1 40% 6 R Fopt e 20% T ol et 31 g TR ffhd 5 S e Hcd  fe Wi offid 412

1.50%

2.100%

3.150%

4.120%

Options :
22742752597. 1
22742752598. 2
22742752599. 3

22742752600. 4

Question Number : 26 Question Id : 22742713502 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Given below are two statements:

Statement (I): Afallacy is a defect in an argument that consists of something other than merely false premises
Statement (1) fan argument is unsound or uncogent, it has one or more false premises, or it contains a fallacy or both
In light of the above statements, choose the most appropriate answer from the options given below

1. Both Statement (I) and Statement () are true.
2 Both Statement (1) and Statement (I1) are false.
3. Statement (1) is true but Statement () is false.
4 Statement (1) is false but Statement (11) is true.

Options :

22742752601. 1
22742752602, 2
22742752603. 3

22742752604. 4

Question Number : 26 Question Id : 22742713502 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Riafimg

0% . 0 0 o 3T 1 o R o RT3 30 ST g g

O I O s s 1 oS 8, 8 U 1 O ST SR Bl 1 b QN et & 11 9 G e gl
H
SR e o e F LT e & e S R 1 e i

1. 3% | 4R | 3 T 2

@ | 4R I 3H w2l

3. 00K | 0 5 o e | 3D 2
4. O | 0 § o & 1| 0 21
Options:
22742752601. 1

22742752602. 2



22742752603. 3

22742752604. 4

Question Number : 27 Question Id : 22742713503 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which of the following is arranged in order of decreasing connotation?

1. Instrument, musical instrument, string instrument, violin
2. Violin, musical instrument, string instrument, instrument
3. Violin, string instrument, musical instrument, instrument
4 Instrument, string instrument, musical instrument, violin
Options:

22742752605. 1

22742752606. 2

22742752607. 3

22742752608. 4

Question Number : 27 Question Id : 22742713503 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
T # & 3 7o & ved §Y o A orafua § 2

1. 47, Tfld areda, ot aredd, oo
3. dafeH, ddl aregd. S@iid 9ed, 93
4. TF, I dreds, T aredE, i

Options :

22742752605. 1
22742752606. 2
22742752607. 3
22742752608. 4



Question Number : 28 Question Id : 22742713504 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements:

Statement (1) A valid deductive argument cannot have all true premises and a false conclusion
Statement (Il): The concept of truth cannot be applied to arguments

In light of the above statements, choose the most appropriate answer from the options given below.

- Both Statement (1) and Statement (1) are true.
- Both Statement (1) and Statement (Il) are false.
_ Statement (1) I1s true but Statement (1) is false.
~Statement (1) Is false but Statement (I1) is true.

o fa —

o

Options:

227427526009. 1
22742752610. 2
22742752611. 3
22742752612. 4

Question Number : 28 Question Id : 22742713504 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



ey

&Y | Tt ay FemTers gidd & 9l snuRar 9 ud fshy 3w T8l 81 ¥dd 8l

&Y |I: O &1 Yhed gidad W H0gad ol &l obdl ¢l

SR &Y & e § Hid {80 70 @l § 1 9ad Iugdd IR &1 99 Bifo

1. B4 | R 11 EHI 9 B

2. @Y | AR || &H 9 B

3. ®Y | d © fohd HYH 1l Ud B
4 HYF | A [ HY 1| T B
Options :

227427526009. 1

22742752610. 2
22742752611. 3

22742752612. 4

Question Number : 29 Question Id : 22742713505 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

“[fyou love hot cakes and you love ice creams, then you will surely love hot cake ice cream”. Which fallacy is commitied in the above argument?

1. Fallacy of composition
2. Slippery slope

3. Fallacy of division

4 Hasty generalization

Options:

22742752613. 1
22742752614. 2
22742752615.3

22742752616. 4

Question Number : 29 Question Id : 22742713505 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

"Uf ST T 6 A ST G &, 0! R U 3 5 S G e ST S 9 W e R g
1. el am
). e I

1 [TR
4 HaIRd G

Options :

22742752613. 1
22742752614. 2
22742752615. 3

22742752616. 4

Question Number : 30 Question Id : 22742713506 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements:

Statement (1): Nyaya syllogism has three propositions and five terms

Statement (I1): Aristotelian syllogism has three propositions and three terms

In light of the above statements, choose the most appropriate answer from the options given below.

1. Both Statement (1) and Statement (1) are true.
2 Both Statement (1) and Statement (11) are false.
3. Statement (1) is true but Statement (1) is false.
4 Statement (1) is false but Statement (I1) is true.

Options :

22742752617. 1
22742752618. 2
22742752619. 3

22742752620. 4



Question Number : 30 Question Id : 22742713506 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
R PRy

DY |- UG =g H i+ Ufdaieral 3R uid ug gid |

B || SREaTS] e § Ji- ufagiaar iR §i7 ug 8id &

o

ifad Aol & ¥ 98 ST

SWdd YAl & Heid | g

1. HYF SR GH Gd gl

2 TYF | 3R 1| GHf T &

3. &Y | 9 ¢ fhd DU 1 A B
4 TYF | 3T & fhg A 1 9T @
Options:

22742752617. 1

22742752618. 2

22742752619. 3

22742752620. 4

Question Number : 31 Question Id : 22742713507 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Consider the base — 10 number 100. In base — 6, it would be represented as

Options :
22742752621. 1
22742752622. 2



22742752623. 3

22742752624. 4

Question Number : 31 Question Id : 22742713507 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
YR (99) - 10 P U= 100 ST R -6 H g8 A9 T 1 feog ¥4 § yefid gift 2

Options:

22742752621. 1
22742752622. 2
22742752623.3

22742752624. 4

Question Number : 32 Question Id : 22742713508 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements:

Statement (1) Wiki is usually in some form of chronological order and postings tend to be short in length
Statement (I1): Amobile phone (cell phone) primarily uses flash memory

In light of the above statements, choose the most appropriate answer from the options given below.

1. Both Statement (1) and Statement (I1) are frue.
2. Both Statement (1) and Statement (Il) are false.
3. Statement (1) is true but Statement (1) is false.
4 Statement (1) is false but Statement (Il) is true.

Options :



22742752625. 1
22742752626. 2
22742752627. 3

22742752628. 4

Question Number : 32 Question Id : 22742713508 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

o ey

&Y | R ¥ 4 fao! fodl yeR & Srarm e ¥ 1 gidl 8 R Ui awars § 81 gidl 8

Y |I: HiEIZd B (Sd BF) Teid: Hi¥ 3R &1 §ai oidl g |

e O

IuUH B & el § Ffaiad fdodl § ¥ gl SW 3

1
3

1. Y| IR 11 TH T B

2 ®YF | AR I gHI 9d 5

3. B | 9 ¢ foog YA |1 30T B
4. B | 3T & g Y || TA B |
Options :

22742752625. 1
22742752626. 2
22742752627. 3

22742752628. 4

Question Number : 33 Question Id : 22742713509 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements:
Statement (I): RFID is the use of fingerprint scans, retina scans, face identification, etc as & way of indentifying & person uniquely.

Statement (1l): The website using the streaming method to deliver video means that the video can be played while it is being downloaded and
acccordingly less time is requried before users can view the video

1. Both Statement (1) and Statement (1) are true
2. Both Statement (1) and Statement (11) are false.
3. Statement (1) is true but Statement (1) is false.
4 Statement (1) is false but Statement (1) is true.

Options :

22742752629. 1
22742752630. 2
22742752631.3

22742752632. 4

Question Number : 33 Question Id : 22742713509 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
T3 o R

2 | ot 1 TR0y 0 8 G 0 o 0 70 & U o 10 S, 0 65, 1 U, T 1 T R 06 9 1

00 I T o T oo e (R o i e 1 o] & o 1 T3 St o o X1, 30 et o el & o
GO AR e 1 ¢ W § O A 0 T o

T T 3 A e el A 9 R o g

1.3 |91 3H T

) B 4R 11 EH T

3 | TS TH 3 || 9 2
4 T | S 8 For 72 1| 0 2
Options:
22742752629. 1

22742752630. 2



22742752631. 3
22742752632. 4

Question Number : 34 Question Id : 22742713510 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following statements are frue?

1. One of the main advantages of ROM is that the information stored on the ROM chip is not lost even when the power to the computer is tumed
off

2. ASClIis an acronym for American Standard Code for Intelligent Information

3. Compared to desktop computers, laptop computers are portable since all its components are together in one single unit

1. Aand B only

2. Aand C only

3. Band G only

4 ABandC
Options:
22742752633. 1
22742752634, 2
22742752635. 3

22742752636. 4

Question Number : 34 Question Id : 22742713510 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Eue R R e R

A 3R ¥ T 31 T T8 T4 T2 & 10 o 30l 00 ot R iR a1, g 1 o o s 3 o G o @ e e g
B UTHH! o5 &% e g8 HIE B gecluc BNANA @1 §3W T g

C. eI B! 1 e A Uy HU TRl BId & i 390 940 90 06 T 9 41 @R A el ¢

id RO 0 fomedl # Y W TR

1 FIAAIRB
2 BIAAINC
3 B30B IR C
4ABIRC

Options :

22742752633. 1
22742752634. 2
22742752635. 3
22742752636. 4

Question Number : 35 Question Id : 22742713511 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

List | (Usge) List Il (Appropriate Input Device)
A. To select options from a list |. Keyboard
B. To type data into a database Il. OMR

C.To input candidate's MCQ answer marked in pre-determined positions|lll. Chip Reader

D.To input data directly from a bank card V. Mouse

1LA-ILB-IILC-1,D-IV
2A-ILB-1,C-1,D-IV
JA-IVB-I,C-IlLD-1I
4 A-IV,B-Il.C-1,D-1I
Options :
22742752637. 1
22742752638. 2

22742752639. 3



22742752640. 4

Question Number : 35 Question Id : 22742713511 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

gt | &l Gl 11 ¥ gHfed Pife :

T - ST qﬁ; L
A T get § fgsedl & 999 8  E e

B. STeTed H SIET €50 &g 1. 3T T AR

c. [@ Fuifa saffeal § spaff g o m dt ey .

IR & R g . e dse

D. 91 3% &18 § Sl FHaeH &g N

I leu e fasedl o O UE 3R g

1.A-1I,B-Il,C-I, D-IV
2 A-1I,B-1,C-1l, D-IV
3A-IV,B-1,C-Il, D-1l
4 A-IV,B-Il,C-I, D-1
Options :

22742752637. 1
22742752638. 2
22742752639. 3

22742752640. 4

Question Number : 36 Question Id : 22742713512 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In which one of the following Conference of Parties (COP) Kyoto protocol was adopted?

1. COP -1
2.COP-3
3.COP-7
4 COP-10



Options :

22742752641. 1
22742752642, 2
22742752643. 3

22742752644. 4

Question Number : 36 Question Id : 22742713512 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
I Uieidid @ HafcRad H ¥ fog o6 b ureie (3 3 i) 8§ SFiaR fagr 7/ 412

1.4 3t - 1
2 Wafdi-3
3 Wad-7
4 T afdi-10

Options :

22742752641. 1
22742752642. 2
22742752643. 3

22742752644. 4

Question Number : 37 Question Id : 22742713513 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

If a water body is healthy and supports no significant biological activity, then its condition is called as

1. Hypotrophic
2. Mesotrophic
3. Eutrophic

4. Oligotrophic

Options :



22742752645. 1
22742752646. 2
22742752647. 3

22742752648. 4

Question Number : 37 Question Id : 22742713513 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

e, Bl o P WG & R 399 Bl HeaqUl oiad a1 Tal ol U 5, dl 39 Rufd &1 341 @el oI 62
2. 9 g}

4 Togurui]

Options :

22742752645. 1

22742752646. 2

22742752647. 3

22742752648. 4

Question Number : 38 Question Id : 22742713514 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



To qualify as hazardous waste, a waste must have the following characteristics:
A Ignitability

B. Corrosivity

C. Reactivity

D. Toxicity

E. Radioactivity

Choose the correct answer from the options given below:

1. A, CandD only
2.C,DandE only
3.A B, CandE only
4 AB C DandE

Options :

22742752649. 1
22742752650. 2
22742752651. 3
22742752652. 4

Question Number : 38 Question Id : 22742713514 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



G S(URY $e S & e feedt srufdiy # 7 fagiwan gt =mfee -
A SaTiadr

B. H&Radl

C. SifHigaritean

D. fauraan

E fsarafeaan

I feu U fapedf § © el SR T -

1. BadA C3RD
2 ®add C, D3RE
3. ®dd A B, C3RE
4 A B C D3RE

Options :

22742752649. 1
22742752650. 2
22742752651. 3

22742752652. 4

Question Number : 39 Question Id : 22742713515 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements:

Statement (1) Acid rain occurs within, and downwind of areas of major industrial emissions of sulfurdioxide and oxides of nitrogen.
Statement (I1): Long range transport of airborne pollutants can be responsible for acid rain in areas far off from industrial imissions.
In light of the above statements, choose the most appropriate answer from the options given below

1. Both Statement (1) and Statement (1) are true
2. Both Statement (1) and Statement (1) are false.
3. Statement (1) I frue but Statement (1) Is false.
4 Statement (1) Is false but Statement (1) is true.

Options:



22742752653. 1
22742752654. 2
22742752655. 3

22742752656. 4

Question Number : 39 Question Id : 22742713515 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Hiwrakum?
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1. T | 3R 11 S S )

2 Y| 3R 1| ST 9 g

3. O | T & fiq O || O ¢
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Options :

22742752653. 1

22742752654, 2

22742752655. 3

22742752656. 4

Question Number : 40 Question Id : 22742713516 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



‘Life below water’ pertains to which of the SDGs?
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Options :

22742752657. 1
22742752658. 2
22742752659. 3
22742752660. 4

Question Number : 40 Question Id : 22742713516 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742752657. 1
22742752658. 2
22742752659. 3
22742752660. 4

Question Number : 41 Question Id : 22742713517 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Ujjain, in ancient India, was famous for the study of

1. Veterinary science
2. Chinese philosophy
3. Astronomy

4. Community work
Options :
22742752661. 1
22742752662. 2
22742752663. 3

22742752664. 4

Question Number : 41 Question Id : 22742713517 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742752661. 1
22742752662. 2
22742752663. 3

22742752664. 4

Question Number : 42 Question Id : 22742713518 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



The National Knowledge Commission recommended ‘needs-blind admissions’ for

_ National universities

_ State universities

_ Private universities

. Foreign universities operating in India

[

o

Options :

22742752665. 1
22742752666. 2
22742752667. 3

22742752668. 4

Question Number : 42 Question Id : 22742713518 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742752665. 1
22742752666. 2
22742752667.3

22742752668. 4
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Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



The Education/Despatch of 1554 suggested professional training in
A Library science

B. Law

C. Medicine

D. Civil Engineering

E. Material science

Choose the correct answer from the options given below:

1. A, B and C only
2. B, CandD only
3. C,Dand E only
4 A B andE only

Options :

22742752669. 1
22742752670. 2
22742752671. 3
22742752672. 4

Question Number : 43 Question Id : 22742713519 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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22742752669. 1
22742752670. 2
22742752671. 3

22742752672. 4

Question Number : 44 Question Id : 22742713520 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



A policy frame work developed by the UGC in 1978 suggested

A Closure of private universities.

B .Increase in the number of universities.

C.Support for high quality experimental research.
D.Discontinuation of autonomous colleges.

E Introduction of inter-disciplinary courses at under graduate level.
Choose the correct answer from the options given below:

1. A, B and C only
2. B, CandD only
3. C,Dand E only
4 B, CandE only

Options :

22742752673. 1
22742752674. 2
22742752675. 3
22742752676. 4

Question Number : 44 Question Id : 22742713520 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742752673. 1
22742752674 2
22742752675. 3

22742752676. 4

Question Number : 45 Question Id : 22742713521 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



(iven below are two statements:

Statement (I): According to the National Education Policy 2020, teaching duties wil be more, and student-teacher ratio will be high, and facutty
will be generally transferable across institutions in the country.

Statement (11): According to the NEP. 2020, faculty will be given the iiberty to design heir pedagogical approaches for innovative teaching and
research

In ight of the ahove statements, choose the most approprate answer from the options given below

1. Both Statement (1) and Statement (1) are true
2. Both Statement (1) and Statement (11) are false.
3. Statement (1) is true but Statement (1) is false.
4 Statement (1) is false but Statement (1) s frue

Options :

22742752677. 1
22742752678. 2
22742752679. 3

22742752680. 4

Question Number : 45 Question Id : 22742713521 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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22742752678. 2
22742752679. 3

22742752680. 4

Sub-Section Number : 3
Sub-Section Id : 227427531
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Id : 22742713522 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (46 to 50)

Question Label : Comprehension

Read the below passage and answer the following questions

Climate change and its imperatives across the globe have moved beyond the immediate compulsions of rising mercury levels on planet Earth It
is today a debate among nations on geo-politics and the shift in economic balance from the developed countries to the emerging economies. The
rhetoric by global leaders thus needs to be taken with a pinch of salt for it s not all about climate change concerns. The changing axis of
economic power to the East and emerging countries of Asia will perhaps take & while to sink In. Developing economies like India are just
beginning to take baby steps on the global stage and industry and entrepreneurship will have fo go & long way. Millions of households in India
still have to depend on firewood and kerosene to light up their homes even as scores of Indians die every year for want of basic health amenities.
The priority for suich & nation is meeting basic needs, providing food. health and education rather than spending large portions of its GDP on
importing technologies to cut emissions. India nesds to do ts bit, but on its own terms and at its own pace.

Sub questions

Question Number : 46 Question Id : 22742713523 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The main focus of the passage in on

1. Climate change and its impact

2. Climate change and geopolitics

3. Climate change and developmental imperatives
4. Climate change and mitigation strategies

Options :

22742752681. 1
22742752682. 2
22742752683. 3
22742752684. 4

Question Number : 47 Question Id : 22742713524 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

What are the problems faced by developing economies like India?

A They are extremely poor

B. Many people in India lack basic health amenities

C.They are extremely rich

D .Millions of people still depend on firewood and kerosene to light up their homes
Choose the correct answer from the options given below:

1. A, Band D only
2. B and D only
3. B, Cand D only
4 Aand D only

Options :

22742752685. 1
22742752686. 2
22742752687. 3
22742752688. 4



Question Number : 48 Question Id : 22742713525 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

What should India first and foremost focus on?

. Developing indigenous technologies to cut emissions
. Importing technologies to cut emissions

. Provide food, health and education to its people

. spend large sums of money to cut down emissions

L

F =N

Options :

22742752689. 1
22742752690. 2
22742752691.3
22742752692. 4

Question Number : 49 Question Id : 22742713526 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following facts related to climate change are true?

A The global leaders are indifferent to the issue of climate change

B.The climate change talks are sometimes directed towards political and economic gain rather than climate change
C.Itis about the shift in economic balance from the developed economies to the emerging economies

D Developing economies like India can afford to spend large sums of money to cut emissions

Choose the correct answer from the options given below:

1.Band C only
2.A BandConly
3.B,Cand D only
4 Aand D only

Options :

22742752693. 1



22742752694. 2
22742752695. 3

22742752696. 4

Question Number : 50 Question Id : 22742713527 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements:

Statement (1) India should take measures to cut down emissions but not at the cost of development.
Statement (I1): India should ban the use of firewood and kerosene and opt for cleaner fuels.

In light of the above statements, choose the most appropriate answer from the options given below

. Both Statement (1) and Statement (1) are true

- Both Statement (1) and Statement (1) are false.
- Statement (1) Is true but Statement (1) is false.
- Statement (1) is false but Statement (1) is true
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e

Options :

22742752697. 1
22742752698. 2
22742752699. 3

22742752700. 4

Question Id : 22742713522 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (46 to 50)
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Options :

22742752681. 1
22742752682. 2
22742752683. 3

22742752684. 4
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Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742752685. 1
22742752686. 2
22742752687. 3

22742752688. 4

Question Number : 48 Question Id : 22742713525 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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22742752689. 1
22742752690. 2
22742752691. 3
22742752692. 4
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Options:
22742752693. 1
22742752694, 2
22742752695. 3

22742752696. 4
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Question Number : 51 Question Id : 22742713528 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Both gualitative and quantitative research methodologies are associated with

. Data collection and interpretation
_Artificial settings

. Uniformity of thought

- Social fantasy

A

Options:

22742752701. 1
22742752702. 2
22742752703. 3
22742752704. 4
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Options :

22742752701. 1
22742752702. 2
22742752703. 3

22742752704. 4
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Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The "Snowball S5ampling Method’ is employed in

1. Historical research

2. Ethnographic research
3. Content analysis

4 Narrative analysis
Options :
22742752705. 1
22742752706. 2
22742752707. 3

22742752708. 4
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22742752705. 1
22742752706. 2
22742752707.3
22742752708. 4
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Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Who among the following is the founder of the Classical Indian School of Logic?

1. Kumaril

2. Kautilya

3. Gautama

4 Isvarknshna

Options :

227427527009. 1
22742752710. 2
22742752711.3

22742752712. 4
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22742752710. 2
22742752711. 3

22742752712. 4
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Correct Marks : 2 Wrong Marks : 0

Who composed the fomous song “sare jahan se acha'?

1. Jaidev

2. Muhammad Igbal

3. Bankim Chandra Chattopadhyay
4 Rabindranath Tagore

Options :

22742752713. 1
22742752714. 2
22742752715. 3
22742752716. 4
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22742752713. 1
22742752714. 2
22742752715. 3

22742752716. 4
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“Transmediality” means

1. The movement of a narrative through diversc mediums
2. An intra disciplinary approach to folklore

3. The binary oppositioin between oral and written cultruis.
4. Studying narratives from mythical points

Options :

22742752717. 1

22742752718. 2

22742752719. 3

22742752720. 4
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Options:

22742752717. 1
22742752718. 2
22742752719.3

22742752720. 4
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Milman Parry and Albert Lord introduced:

. Intertextuality and polyphony
- Solar-Mythical Theory

. Oral-Formulaic Theory

- New Historicism

B T

Options :

22742752721. 1
22742752722. 2
22742752723. 3
22742752724. 4
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22742752721. 1
22742752722. 2
22742752723.3

22742752724. 4
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Gramsci situates folkore in a

. People’s lore and private lore

_ Socio-cultural context

. The popular lore of power

. The post-colonial research material

B T

Options :

22742752725. 1
22742752726. 2
22742752727. 3

22742752728. 4
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22742752725. 1
22742752726. 2
22742752727.3
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Which of the following is not correctly matched?

1. Onam-kerala

2. Laikaraoba festival-manipur
3. Kharchi puja-bhiar

4 Wangala festival- Meghalaya
Options :

22742752729. 1
22742752730. 2
22742752731. 3

22742752732. 4
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Which fair is called as Mahakumbh of the East?

1. Sekrenyi Festival
2. Ambubachi Mela
3. Majuli Festival

4. Gangasagar Mela
Options :
22742752733. 1
22742752734. 2
22742752735. 3

22742752736. 4
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Correct Marks : 2 Wrong Marks : 0
g Oa-dieR @l d & HeldY & &9 H SH] J1d 872

1. "sp-l AR
2. 3fFdrl Hell
3. HIScl ABR
Options:
22742752733. 1
22742752734. 2
22742752735. 3

22742752736. 4

Question Number : 60 Question Id : 22742713537 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Which of the following is not correctly matched?

1. Ravi Shankar-5itarist

2. M_.F. Hussain — Table Player
3. R.K. Narayan — Novelist

4. Kaifi Azmi — Poet

Options :

22742752737. 1
22742752738. 2
22742752739. 3

22742752740. 4

Question Number : 60 Question Id : 22742713537 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
frofafea & 3 o 98 &1 § gafad el 82

1. AqTHT — FHdRdED

2. THUD. g4 — dadl

3. 3R & ARA — JTUHHR
4. D% 3T — Pid

Options:

22742752737. 1
22742752738. 2
22742752739.3
22742752740. 4

Question Number : 61 Question Id : 22742713538 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Which one of the following essays has been written by Mahatma Gandhi?

1. | have a Dream

2. The Artist

3. Indian Civilization and Culture
4 The Farth

Options :

22742752741. 1
22742752742. 2
22742752743. 3

22742752744. 4

Question Number : 61 Question Id : 22742713538 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
FrofaRad feg Fey o Agre T & gR1 e 82
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Options:

22742752741. 1
22742752742. 2
22742752743.3
22742752744. 4

Question Number : 62 Question Id : 22742713539 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



The word “Sathyameva Jayate’ is taken from

Yajur Veda
_Atharva Veda

- Mundaka Upanishd
- Sam Veda

B T

Options :

22742752745. 1
22742752746. 2
22742752747. 3

22742752748. 4

Question Number : 62 Question Id : 22742713539 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

HOHq g Weg @ [0 4y I fom T g2

1. g9de

2 3yddg

3 11-355 JUHYG
4 HMHdg

Options:

22742752745. 1
22742752746. 2
22742752747.3
22742752748. 4

Question Number : 63 Question Id : 22742713540 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Which of the following was given the classical language status in 2014?

1. Odia

2. Gujarati

3. Dongari

4. Tamil
Options :
22742752749. 1
22742752750. 2
22742752751. 3

22742752752. 4

Question Number : 63 Question Id : 22742713540 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

fafad fg HeT &1 ad 2014 H AR 4TS &1 Gl 1631 7147 412

2. TeRTel
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4. e

Options:

22742752749. 1
22742752750. 2
22742752751.3

22742752752. 4

Question Number : 64 Question Id : 22742713541 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Sheldon Pollock has written:

1. Three Hundred Ramayanas

2. The Language of the Gods in the World of Men : Sanskrit Culture and Power in Premodern India.
3. Chayageeti Padavali

4. Witness to Mervels : Sufism in Literary Imagination

Options :

22742752753. 1
22742752754. 2
22742752755. 3

22742752756. 4

Question Number : 64 Question Id : 22742713541 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Qﬁ etal E.:.\Uai ';'T aiﬂai {d- aizl%{?
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Options:

22742752753. 1
22742752754, 2
22742752755.3

22742752756. 4

Question Number : 65 Question Id : 22742713542 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



“Kirtanna Ghosha” is composed by:

- Madhav Kandali
. Sankardeva

. shri Chaitanaya
- Shankaracharya

B T

Options :

22742752757. 1
22742752758. 2
22742752759. 3

22742752760. 4

Question Number : 65 Question Id : 22742713542 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
el I P I [P B 82

1. H1Yd Harc

2 TP od

3 41 dag

4 THIEH
Options:
22742752757. 1
22742752758. 2
22742752759. 3

22742752760. 4

Question Number : 66 Question Id : 22742713543 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



The nomenclature E L F stands for

1. Enlightened Lierary Foray
2. Endangered Literary Fund
3. Endangered Language Fund
4. Egalitarian Literary Force

Options :

22742752761. 1
22742752762. 2
22742752763. 3
22742752764. 4

Question Number : 66 Question Id : 22742713543 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
TH-UEd 3UaUH U HHUE 8-

A 2n

o I e

Options:

22742752761. 1
22742752762. 2
22742752763.3

22742752764. 4

Question Number : 67 Question Id : 22742713544 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



World Intellectual Property organization deals with:

1. Intellectual property and traditional knowledge.
2. Ethical and moral issues of folklore.

3. Preservation of dying languages.

4. Conservation of dying cultures.

Options :

22742752765. 1
22742752766. 2
22742752767. 3

22742752768. 4

Question Number : 67 Question Id : 22742713544 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

fay Sfse dugr e fead dafad 22
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2. dicpdldi & iR g AR WP T,
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Options:

22742752765. 1
22742752766. 2
22742752767.3
22742752768. 4

Question Number : 68 Question Id : 22742713545 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



By the phrase Folklore as an art of subversion” we understand:

1. Folklore is not important to understand the world views

2. Folklar helps is understand the roots of pepole’s biases.

3. Colonial tales are static and stable

4. Dominant subaltern groups create only tales of injustice done to the folks.

Options :

22742752769. 1
22742752770. 2
22742752771.3

22742752772. 4

Question Number : 68 Question Id : 22742713545 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
"FG @] Hell & U § Gibdlar UG ° gH 71 THId 82

1. i [ayedTdl-faaR! &1 9HgH g 9eayyi el ol
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3. Aufafie HuTt AR wd =i gl 31
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Options:

22742752769. 1
22742752770. 2
22742752771.3
22742752772. 4

Question Number : 69 Question Id : 22742713546 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



‘Soil and Soul’ is an important category of

1. Marathi Folktales
2. Assamese Folktales
3. Konkani Folktales
4 Kashmere Folktales

Options :

22742752773. 1
22742752774. 2
22742752775. 3

22742752776. 4

Question Number : 69 Question Id : 22742713546 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
HaT 3R 1T FHifeed ol Heeayof 41f &-

1. O3T AlbHUTH Bl

2. 39H DI b HYUIH B
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Options:

22742752773. 1
22742752774. 2
22742752775.3
22742752776. 4

Question Number : 70 Question Id : 22742713547 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Where are the largest residence areas of Lepcha and Bhutia tribes located?

_Jharkhand
- Sikkim

. Odisha

- Manipur

B T

Options :

22742752777. 1
22742752778. 2
22742752779. 3

22742752780. 4

Question Number : 70 Question Id : 22742713547 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
ferr 3158 H o U HfegT SHefa ol Halfed SiRaiyd &5 3afyd g2

Options:

22742752777. 1
22742752778. 2
22742752779.3

22742752780. 4

Question Number : 71 Question Id : 22742713548 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



In which state are the Garo, Khasi and Jaintia tribes located?

- Assam

- Meghalaya

- Madhya Pradesh
~ Sikkim

B T

Options :

22742752781. 1
22742752782. 2
22742752783. 3

22742752784. 4

Question Number : 71 Question Id : 22742713548 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
TRI, @41 vd Sfaar SHenadl (g Iod 8 Uil Sl 82

1. 3(HH

2 HeY

3 U Ucx

4 TafdpH
Options:
22742752781. 1
22742752782. 2
22742752783. 3

22742752784. 4

Question Number : 72 Question Id : 22742713549 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Which of the following tribes hails from Jharkhand?

. Buksa
_Raiji

. Binjia
- Kondh

B T o

Options :

22742752785. 1
22742752786. 2
22742752787. 3

22742752788. 4

Question Number : 72 Question Id : 22742713549 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Fafefad 28 SHe IREs o g B 82

1. g9

2. ell

3. &Yl

4 DIY
Options:
22742752785. 1
22742752786. 2
22742752787.3

22742752788. 4

Question Number : 73 Question Id : 22742713550 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



‘Bagurumba’ is a tribal dance form of the native Bodo tribe in:

1. Assam

2. Madhya Pradesh
3. Haryana

4 Bihar

Options :
22742752789. 1
22742752790. 2
22742752791. 3

22742752792. 4

Question Number : 73 Question Id : 22742713550 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
IAEET (69 o9 & o SIs! S-ullld &1 Uh S 94 €4 82

1. 3{H

2. A UeHl

3. gieamon

4 TaER
Options:
22742752789. 1
22742752790. 2
22742752791. 3

22742752792. 4

Question Number : 74 Question Id : 22742713551 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Teratali folk dance of Rajasthan is performed by the tribal groups named:

1. Kamar
2. Baiga
3. Oraon
4 Kondh

Options :

22742752793. 1
22742752794. 2
22742752795. 3

22742752796. 4

Question Number : 74 Question Id : 22742713551 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
AR &I R did-3d Hyffad fog SHufd 99 gRT 641 Skl 82
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Options:

22742752793. 1
22742752794. 2
22742752795. 3

22742752796. 4

Question Number : 75 Question Id : 22742713552 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



‘kalbelia’ is a dance form performed by the trible of the same name in:

1. Madhya Pradesh
2. Rajasthan

3. Uttar Pradesh

4. West Bengal
Options :
22742752797. 1
22742752798. 2
22742752799. 3

22742752800. 4

Question Number : 75 Question Id : 22742713552 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
BRI U 8- & o g e X 3 G et 90 A1 a5 el G Rl e ol 22
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Options:

22742752797. 1
22742752798. 2
22742752799. 3
22742752800. 4

Question Number : 76 Question Id : 22742713553 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Which among the following is the largest tribe in Odisha?

. Bagata
- Kondh
. Banjara
Ho

AWN -

Options :

22742752801. 1
22742752802. 2
22742752803. 3
22742752804. 4

Question Number : 76 Question Id : 22742713553 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
TSN B Tl S9E arel SHeg B4l 82
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Options:

22742752801. 1
22742752802. 2
22742752803. 3

22742752804. 4

Question Number : 77 Question Id : 22742713554 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



In Medieval Gujarati literature, are descriptive passaqes in resonant prose, describing various subjects the dinners, cities, heroines and
naturel phenomena

1. Vamakas
2 Vachikas
3 Vicharikas
4 Vichitras

Options :
22742752805. 1
22742752806. 2

22742752807. 3
22742752808. 4

Question Number : 77 Question Id : 22742713554 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742752805. 1
22742752806. 2
22742752807.3

22742752808. 4

Question Number : 78 Question Id : 22742713555 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Find out the odd pair from among the following:

1. Poumei — Manipur

2. Garo — Mizoram

3. Nishi — Uttar Pradesh
4 Khasi — Jharkhand

Options :

22742752809. 1
22742752810. 2
22742752811. 3

22742752812. 4

Question Number : 78 Question Id : 22742713555 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
fgfafad o 4 9897 g9 &1 4dl aisu|
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Options:
227427528009. 1
22742752810. 2
22742752811. 3

22742752812. 4

Question Number : 79 Question Id : 22742713556 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Which among the following scheduled tribes performs ‘katha'?

1. Dhanwar

2. Binjhwar

3. Majhwar

4. Khairwar
Options :
22742752813. 1
22742752814. 2
22742752815. 3

22742752816. 4

Question Number : 79 Question Id : 22742713556 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Fgfafed -4 gfd SHed HYr &1 W Sl 82

1. Y49

2. fduaR

3. HzdR

4. AR
Options:
22742752813. 1
22742752814. 2
22742752815.3

22742752816. 4

Question Number : 80 Question Id : 22742713557 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Which among the following scheduled tribes observes Diwali as a mourning ceremony?

1. Saharia
2. Baiga
3. Tharu
4 Paharia

Options :

22742752817. 1
22742752818. 2
22742752819. 3

22742752820. 4

Question Number : 80 Question Id : 22742713557 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Fraffad 3 § SH-8 rIgfd sHefa darwd & 9e-ud & &0 & T 82
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Options:
22742752817. 1
22742752818. 2
22742752819.3

22742752820. 4

Question Number : 81 Question Id : 22742713558 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Who among the following scholars used the term ‘tribe’ for the first time?

1. Mahatma Gandhi
2. Jawaharlal Nehru
3. B.R. Ambedkar
4 Thakka Baba

Options :

22742752821. 1
22742752822. 2
22742752823. 3
22742752824. 4

Question Number : 81 Question Id : 22742713558 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

ufafEd feg fgm 3 gduyy Saenfa weg &1 uarT fean?
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Options:

22742752821. 1
22742752822. 2
22742752823.3

22742752824. 4

Question Number : 82 Question Id : 22742713559 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Which among the following groups was the first one to enter India?

1. Negrito

2. Mongoloid

3. Nordic

4 Mediterranean
Options :
22742752825. 1
22742752826. 2
22742752827. 3

22742752828. 4

Question Number : 82 Question Id : 22742713559 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
fgfafad o 4 98 91 Yea 94E o1 f99- 4Rd § udw f&ar
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Options:

22742752825. 1
22742752826. 2
22742752827.3

22742752828. 4

Question Number : 83 Question Id : 22742713560 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Which of the following is not the characteristic of the ballad?

. Story with religious content
. Song with dance

. Poetic tale

. Folk Theatre

B T

Options :

22742752829. 1
22742752830. 2
22742752831. 3

22742752832. 4

Question Number : 83 Question Id : 22742713560 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Frofeiad 5 9 o el My &1 3Ry 81 82
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Options:

22742752829. 1
22742752830. 2
22742752831. 3

22742752832. 4

Question Number : 84 Question Id : 22742713561 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



William Thoms introduced the term ‘Folkore’ to replace the term

- Folk Literature

- Popular Antiquities
- Minor-language

. Tradition

B T

Options :

22742752833. 1
22742752834. 2
22742752835. 3

22742752836. 4

Question Number : 84 Question Id : 22742713561 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742752833. 1
22742752834, 2
22742752835.3
22742752836. 4

Question Number : 85 Question Id : 22742713562 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Fixed phrase genres are also identified by

. Ethnic genres

Verse genres

. Conversational genres
. Song genres

B T

Options :

22742752837. 1
22742752838. 2
22742752839. 3

22742752840. 4

Question Number : 85 Question Id : 22742713562 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742752837. 1
22742752838. 2
22742752839.3

22742752840. 4

Question Number : 86 Question Id : 22742713563 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Alan Dundes considers ‘Meta-Folklore’ as a source for the study of

1. Material Culture

2. Oral traditions

3. Oral literary criticism
4 Textual criticism

Options :

22742752841. 1
22742752842. 2
22742752843. 3
22742752844. 4

Question Number : 86 Question Id : 22742713563 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
UoH S99 A Hel-didbarar ®f HEfiiad 5 9 fodd 399 8 Us Jid & ¥4 J JH 82

1. Yifd® FEPid

2 HifE® RN

3. gigs gifefds e
4 Tfead 3Hdra

Options:

22742752841. 1
22742752842, 2
22742752843.3

22742752844. 4

Question Number : 87 Question Id : 22742713564 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



The research method that facilitates validation of data through cross verification from two or more sources is known as:

1. Correlation Method
2. Modeling Method

3. Triangulation Method
4. Sampling Method
Options :
22742752845. 1
22742752846. 2
22742752847. 3

22742752848. 4

Question Number : 87 Question Id : 22742713564 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
T 1 ol il &1 e 34feep il 8 TR IO & H1 9 il 1 Gl 1 ¥R I ¢, I gl el -

1. gdey fafy
2. Argfei fafd
3. fiva fafy
4 Vi fafd
Options:
22742752845, 1
22742752846. 2
22742752847. 3

22742752848. 4

Question Number : 88 Question Id : 22742713565 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



“Folklore reveals man's escape into fantasy from the conditions of his geographical environment and from his own biological limitations” . The
above observation is made by

1. Sigmund Freud

2. William Bascom

3. Bronislaw Malinowsk

4 Franz Boas
Options :
22742752849. 1
22742752850. 2
22742752851. 3

22742752852. 4

Question Number : 88 Question Id : 22742713565 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
T T 4 . i P 1 e ¥Tr R o ol T e e - e i @ 6 N W e
EZG

1 RPs witg

3 i A

4 99
Options:
22742752849. 1
22742752850. 2
22742752851. 3

22742752852. 4

Question Number : 89 Question Id : 22742713566 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



‘Adage’ is a synonym for

. Proverb
Joke

_Riddle

. Ballad

B T o

Options :

22742752853. 1
22742752854. 2
22742752855. 3

22742752856. 4

Question Number : 89 Question Id : 22742713566 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
TS (Felad) fad! gaiard 82

s
2. g

3. Ugdl

4 YT
Options:
22742752853. 1
22742752854, 2
22742752855. 3

22742752856. 4

Question Number : 90 Question Id : 22742713567 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



In which type of marriage the social or economic status of the wife is higher than the husband?

1. Hypergamy

2. Hypogamy

3. Endogamy

4. Enogamy
Options :
22742752857. 1
22742752858. 2
22742752859. 3

22742752860. 4

Question Number : 90 Question Id : 22742713567 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
fr g UBR @1 fads-usfd | gd! &1 g oyl o1fie qoll (Rufa) ofd I 3= gidr 82

‘I I 3 :\H I aa o
2 Ufdd™ fadrg
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4 TR
Options:
22742752857. 1
22742752858. 2
22742752859. 3

22742752860. 4

Question Number : 91 Question Id : 22742713568 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



|dentify the scholars who have critical engagement with myth and believe in their explanatory and etiological functions?
A Julius krohn

B. William Bascom

C. Milman Parry

D. Joseph Campbell

Choose the correct answer from the options given below

1.Aand B Only
2.Band C Only
3. Band D Only
4 Aand D Only

Options :

22742752861. 1
22742752862. 2
22742752863. 3
22742752864. 4

Question Number : 91 Question Id : 22742713568 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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A. S8 e

B. fafcras Sw@iH

C. e 0

D. % HHaq

I feu e fowed € € w8 SR A T BT

1. HaqA IR B
2 BIAB IR C
3 BB #RD
4 HITAIRD
Options :
22742752861. 1
22742752862. 2
22742752863. 3

22742752864. 4

Question Number : 92 Question Id : 22742713569 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



ldentify the Diachronic Theories of folklore:

A Functionalism

B. Psychoanalytical

C. Polygenesis

D. Devolution

Choose the correct answer from the options given below

1. Band C Only
2. Cand D Only
3. Aand C Only
4 Aand D Only

Options :

22742752865. 1
22742752866. 2
22742752867. 3

22742752868. 4

Question Number : 92 Question Id : 22742713569 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Aihald] & Ulael g [9gid @ Ugdl Hifag|
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e

B. FFIfq=cu &g

J1 feu 70 faeedl § © 9aifae 9ol 392 @1 999 I

1. $ddB IR C
2 Had C 3R D
3. HAdA IR C
4 HATAIRD
Options :

22742752865. 1
22742752866. 2
22742752867. 3

22742752868. 4

Question Number : 93 Question Id : 22742713570 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Manaism is the study related to:

A. Cosmology

B. Primitive Religion

C. Nature Worship

D. Ancestral Worship

Choose the correct answer from the options given below:

1. Band C Only
2. Aand C Only
3. Aand D Only
4. B and D Only

Options :

22742752869. 1
22742752870. 2
22742752871. 3

22742752872. 4

Question Number : 93 Question Id : 22742713570 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



YR ger (AFw) fouy Hefed o 52
A FBHIUS fagH

B. afTfeH — ¥d

C. UPTd gl

D. g&el - T
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T feu 7T fgwedl ¥ 999 IUgad SR &1 98- DIfold:

1. $ddB IR C
2 HAdA IR C
3. Had A IR D
4 HadB AR D
Options :

22742752869. 1
22742752870. 2
22742752871. 3

22742752872. 4

Question Number : 94 Question Id : 22742713571 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The operation of ‘Oral Transmission’ is subject to the abstract principles of:
A. Continuity

B. Variation

C. Archiving

D. Selection

Choose the correct answer from the options given below

1. A, BandD Only
2.B, Cand D Only
3. B and C Only
4 Aand D Only

Options :

22742752873. 1
22742752874. 2
22742752875. 3
22742752876. 4

Question Number : 94 Question Id : 22742713571 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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A. TIad
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i feu U fAwedl ° T T9 SUgad SR @1 94 DIl

1. $dd A B3R D
2 ®adB. C3RD
3. ®adB AR C

4 HATAIRD
Options :
22742752873. 1
22742752874 2
22742752875. 3

22742752876. 4

Question Number : 95 Question Id : 22742713572 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following are popular dance forms of the North Indian Region ?
A_Rouf

B. Naqual

C. Kundheinata

D. Lavani

Choose the most appropriate answer from the options given below

1. Aand B Only
2. B and C only
3. Cand D Only
4 Aand D Only

Options :

22742752877. 1
22742752878. 2
22742752879. 3
22742752880. 4

Question Number : 95 Question Id : 22742713572 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1. AT A IR B
2 HadB AR C
3. HAd C 3R D
4 HATAIRD
Options :

22742752877. 1
22742752878. 2
22742752879. 3

22742752880. 4

Question Number : 96 Question Id : 22742713573 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



‘kalpanikodayaman’ is:

A_a Tamilian romantic movement

B. also called ‘bhava kavita’

C. distinct from didatic or philosophical poetry

D. an extension of the existing tradition

Choose the correct answer from the options given below

1. Aand B Only
2. B and C Only
3. Cand D Only
4 Aand D Only

Options :

22742752881. 1
22742752882. 2
22742752883. 3
22742752884. 4

Question Number : 96 Question Id : 22742713573 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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C. IUCITHS T1 SEi=® ®iadr 4 fig

D. faomH o &1 fawdr

-t feu U fadedi & T 981 SR &1 99 DIt

1. AT A IR B
2 HadB AR C
3. HAd C 3R D
4 HATAIRD
Options :

22742752881. 1
22742752882. 2
22742752883. 3

22742752884. 4

Question Number : 97 Question Id : 22742713574 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which among the following are popular performative genres of Bengal?
A Kathakali and Kavi Sandhi

B. Kavi Gaan and Panchali

C. Kirtan and Kathkata

D. Varnam Vana and Vishesh

Choose the correct answer from the options given below

1. Aand B Only
2. B and C Only
3. Cand D Only
4 Aand D Only

Options :

22742752885. 1
22742752886. 2
22742752887. 3
22742752888. 4

Question Number : 97 Question Id : 22742713574 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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A TYHdl Ud B IfY

B. HIdH Td Uil
C. Did Ud dYdel
D. 9uiH 9 U4 faxy

i feu U @l § T I8! IR &1 994 DI

1. Had A AR B
2 ®HadB AR C
3. ®aa C AR D
4 HIAAMRD

Options :

22742752885. 1
22742752886. 2
22742752887. 3

22742752888. 4

Question Number : 98 Question Id : 22742713575 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Some important types of folk theatrical forms are:
A_Jatra, Kathakali

B. Tamasha, Nautanki, Pala

C. Danda Nata and Rainbow

D. Improv and Improptu

Choose the correct answer from the options given below

1. Aand B Only
2. B and C Only
3. Cand D Only
4 Aand D Only

Options :

22742752889. 1
22742752890. 2
22742752891. 3
22742752892. 4

Question Number : 98 Question Id : 22742713575 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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D. SHI1d Ud I

= ST 7T fadedl & 9 U5 SR &1 999 DI

1. AT A IR B
2 HadB AR C
3. HAd C 3R D
4 HATAIRD
Options :

227427528809. 1
22742752890. 2
22742752891. 3

22742752892. 4

Question Number : 99 Question Id : 22742713576 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Nautanki as popular folk theatric tradition has the following features

A it has two famous schools: the Hathras and the Kanpur

B. it originally had women performers

C. itis a day performance

D. First reference of nautanki can be located in the account of Akbar's court given in Abul Fazal's Ain-i-Akbari
Choose the correct answer from the options given below

1. Aand D Only
2. G and D Only
3. BandAOnly
4. D and B Only

Options :

22742752893. 1
22742752894. 2
22742752895. 3
22742752896. 4

Question Number : 99 Question Id : 22742713576 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1 HaqA IR B
2 $aa C AR D
3. $9a B R A
4 3D IR B

Options :

22742752893. 1
22742752894. 2
22742752895. 3
22742752896. 4

Question Number : 100 Question Id : 22742713577 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following are the products of Grounded Theory?
A. Experimental frame work

B. Concepts

C. Hypotheses

D. Attributes of a category

E. Quantitative Research Methods

Choose the correct answer from the options given below

1. A, B and C Only
2.B, Cand D Only
3. C, Dand E Only
4 A BandE Ony

Options :

22742752897. 1
22742752898. 2
22742752899. 3
22742752900. 4

Question Number : 100 Question Id : 22742713577 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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A. TS gl

B. 94y

C. WdHedTY
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E. URumHTe® Ty fafear

Hid feu U fowedl & ¥ 981 STk &1 99 Dift:

1. Had A B3R C
2 ®ddB, C AR D
3. ®dd C, D3RE
4 HAAA B3ARE

Options :

22742752897. 1
22742752898. 2
22742752899. 3

22742752900. 4

Question Number : 101 Question Id : 22742713578 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which among the following are true of the Annanmar and Alha epics?

A_They closely follow the Ramayana

B. they are examples of folk texts

C. they closely follow the Mahabharata

D. Karine Schomer points that the Alha epic becomes, "a Mahabharata of the kali yuga”
Choose the correct answer from the options given below

1. Aand D Only
2. Aand C Only
3. B, Cand D Only
4. C, D andA Only

Options :

22742752901. 1
22742752902. 2
22742752903. 3

22742752904. 4

Question Number : 101 Question Id : 22742713578 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1. HAd A AR D
2 HAAA3MRC
3. ®ddB, C3ARD
4 ®dd C, D 3RA

Options :

22742752901. 1
22742752902. 2
22742752903. 3

22742752904. 4

Question Number : 102 Question Id : 22742713579 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Deductive method of reasoning in conducting research signifies :
A from particular to general ideas

B. from general to specific ideas

C. Top-down approach

D. Bottom-up approach

Choose the correct answer from the options given below

1. Cand A Only
2. B and C Only
3. Cand D Only
4 Aand D Only

Options :

22742752905. 1
22742752906. 2
22742752907. 3
22742752908. 4

Question Number : 102 Question Id : 22742713579 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1. $aaC AR A
2 HadB AR C
3. HAd C 3R D
4 HATAIRD
Options :

22742752905. 1
22742752906. 2
22742752907. 3

22742752908. 4

Question Number : 103 Question Id : 22742713580 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which among the following are true about the "Hanchi?’

A_It's a Kannada version of the Cindrella story

B. It's an adaptation of a story narrated to G.5. Saratchandra by a woman in a rural village.

C. The author identifies the motif and archetypes using the motif index

D. It shares multiple similarities with the original Cindrella tale despite different cultural contexis.
Choose the correct answer from the options given below

1.B, Cand A Only
2.C, DandB Only
3.A BandD Only
4 A CandD Only

Options :

227427529009. 1
22742752910. 2
22742752911. 3
22742752912. 4

Question Number : 103 Question Id : 22742713580 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1 BaqB, C ARA
2 %3aC,DIRB
3 %3aA BARD
4 BaaA CAHRD

Options :

227427529009. 1
22742752910. 2
22742752911. 3

22742752912. 4

Question Number : 104 Question Id : 22742713581 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Orientalism was a new discipline whose foundations were laid on
A. Cartesian cosmology

B. Being seen as a fixed text

C. Sacred and profane

D. Colonial paradigm

Choose the correct answer from the options given below

1. C and D Only
2. Aand B Only
3. Band D Only
4 Aand C Only

Options :

22742752913. 1
22742752914. 2
22742752915. 3
22742752916. 4

Question Number : 104 Question Id : 22742713581 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Ud 41 {998 UreHare o/ ©f §a1e g IR g &ie

A @I OaTs Seavs-fagH

B. T®% f3d Uie & U H &l 741

C. Uld7 vd 9igis

D. 3fgFafE® ufgar
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1. »ad C AR D
2 Had AR B
3. ®dd B AR D
4 HAAAMRC

Options :

22742752913. 1
22742752914. 2
22742752915. 3
22742752916. 4

Question Number : 105 Question Id : 22742713582 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The scientific method of research is based on certain postulates such as:
(A). Subjective Observation

(B). Pre-conceptual framer

(C). Empirical evidence

(D). Ethical neutrality

Choose the correct answer from the options given below:

1. (C)and (D) only.
2. (B) and (A) only
3. (C)and (A) only.
4 (D) and (B) only.
Options :
22742752917. 1
22742752918. 2
22742752919. 3

22742752920. 4

Question Number : 105 Question Id : 22742713582 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1. »ad C AR D
2 ®ad B AR A
3. ®aa C AR A
4 ®dda D AR B

Options :

22742752917. 1
22742752918. 2
22742752919. 3
22742752920. 4

Question Number : 106 Question Id : 22742713583 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



According to Saussure, the definition of Phoneme contains two major principles:
A. Sound images

B. Phonational act

C. Auditory impression

D. Word structure

Choose the correct answer from the options given below

1. C and D Only
2. Aand B Only
3. B and C only
4 Aand D Only

Options :

22742752921. 1
22742752922. 2
22742752923. 3
22742752924. 4

Question Number : 106 Question Id : 22742713583 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



~

TRR & YR, WHH S TR H g1 Wd fgid dafied o

A @ ufdafss

B. W &
C. ¥qu UHId
D. TG 0

= ST 7T fadedl & 9 U5 SR &1 999 BIeg:

1. PATA IR D
2 Had A IR B
3. ®ad B AR C
4 HATAIRD
Options :

22742752921. 1
22742752922. 2
22742752923. 3

22742752924. 4

Question Number : 107 Question Id : 22742713584 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which among the following are true about Habib Tanvir's folk theatre?
A. "Hayavadana’

B. "Kamdev ka Apna, Vasant Ritu ka Sapna”

C. Translation of Shakespeare's “A Mid Summer Night's Dream”

D. Translation of Girish karnad'’s text, ‘"Nagamandala”

Choose the correct answer from the options given below

1. Aand B Only
2. Cand D Only
3. B and C Only
4 Aand D Only

Options :

22742752925. 1
22742752926. 2
22742752927. 3
22742752928. 4

Question Number : 107 Question Id : 22742713584 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Fofeiad ¥ 9 ®1FH 9 [docd gald dHdR &1 die iy die-red 9y (Td) 1 Jefed g

A. BUdGT

B. ‘®THGd Bl HUAI dH-dd Pl JUAT

C. YA HI® gy T s R A8y S

D. TR 3R FRITeATS-2Re ArHsd

1 feu v fowedl € € T8t SR & 9 eI

1. Had AR B
2 &ad C 3R D
3 HAaB AR C
4 HId A AR D

Options :

22742752925. 1
22742752926. 2
22742752927. 3

22742752928. 4

Question Number : 108 Question Id : 22742713585 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Identify the American folklorists who worked on Indian Ballad tradition and folk song tradition respectively
A Brenda Beek

B. Ruth Finnegan

C. Margaret Trawiek

D. Margaret Mead

Choose the correct answer from the options given below

1. Band C Only
2. Band D Only
3. Aand C Only
4. Cand D Only

Options :

22742752929. 1
22742752930. 2
22742752931. 3
22742752932. 4

Question Number : 108 Question Id : 22742713585 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



3 AR T-aiag B TgdH Hifort forg- HHRT: HRAT iyl WU U4 ald *Hid Wl | S faam
A SSTd®

B. &Y ftoaH

C. Ay ehaus

D. ArRe Hig

3 U T faedt # @ 1 SR &1 99 Biiog

1 $HaaB AR C

2 HAqB AR D

3. HATAIRC

4. BT C AR D
Options :
22742752929. 1
22742752930. 2
22742752931, 3

22742752932. 4

Question Number : 109 Question Id : 22742713586 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



‘Indentured Folktales’ is the genre dedicated to:

A stories of fasting, feasting, mysticism, high cultures, margi cultures.

B. modified folklores adopting host cultures and getting into endangered cultures.
C. indentured migrant's migration to planation colonies and the folkatales thereof.
D. religious cultural norms of the host countries.

Choose the correct answer from the options given below

1. Aand B Only
2. B and C Only
3. B, Cand D Only
4 Aand D Only

Options :

22742752933. 1
22742752934. 2
22742752935. 3
22742752936. 4

Question Number : 109 Question Id : 22742713586 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Toyes aeeyny fed gafid faer @ 82

A. Od, EH-UF, ToWale, 3 Sxpiadl AR Spiadl ¥ J&fid seri-dl

B. Hola U&piadi &l AU arell YN didbardid Ud Gahedd Upia o fe1g

C. UiasTeS Uaiadl &1 SFaFT Sual Ud dieays &f 3R Uaed
D. BoldH o= & YiHie-ipia® AHcs
I feu T faded! & ¥ Ted I9ad ST @1 994 BI:

1. Had A AR B
2 ®HadB AR C
3. ®dd B, C AR D
4 HIAAMRD

Options :

22742752933. 1
22742752934. 2
22742752935. 3

22742752936. 4

Question Number : 110 Question Id : 22742713587 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following concepts are central to conducting folklore research?
A. Social pressure

B. Research topic

C. Research design

D. Research method

E. Comparison with fellow researchers

Choose the correct answer from the options given below

1. A, B and C Only
2. A DandE Only
3. C, Dand E Only
4 B, Cand D Only

Options :

22742752937. 1
22742752938. 2
22742752939. 3

22742752940. 4

Question Number : 110 Question Id : 22742713587 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



didaral Q1Y @A o HElcRgd H§ ¥ HH-31 79 Ydhed- 82

A gHITS® a9

B. Ty fawg

C. TMY AP

D. =ty fafg

E. Tret enenféal @ qan

< fGu 7T fg@edl & T 981 S @1 994 S

1. $ddA B3R C
2 Had A DSIRE
3. ®maadC DIARE
4 HAdB. C3ARD
Options :
22742752937. 1
22742752938. 2
22742752939, 3

22742752940. 4

Question Number : 111 Question Id : 22742713588 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following folk games require the players to guess the whereabouts of a given object?
A Hare and Hounds

B. Button, Button

C. Hide the Thimble

D. Tic-Tac-Toe

Choose the most appropriate answer from the options given below

1. B and C Only
2. Aand B Only
3. B and D Only
4. Aand D Only

Options :

22742752941. 1
22742752942. 2
22742752943. 3

22742752944. 4

Question Number : 111 Question Id : 22742713588 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Fofefed 5 € g T3] 8 e a% (S59) & GR H 3fgAH TTH &g (G sdl & Aawadmdl gld 6?2
A TR RS

B. 94, 7e

C 3RS & freg

D. fe@-2ld-cl

i U TE fadedl H § 9o I IR 1 95 B

1. ®HqdB AR C

2 HAqA AR B

3. HaqB ARD

4 BATAARD
Options :
22742752941. 1
22742752942, 2
22742752943, 3

22742752944. 4

Question Number : 112 Question Id : 22742713589 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



‘Dhodrobanam’ is

A a reference to Santhal musical instuments as it appears in a folk-tale.
B. a fiddle that had the shape of a woman

C. Symbolic of Santhali’s egalitarion culture

D. a creation by the women, for the women.

Choose the correct answer from the options given below

1. C and D Only
2. B and D Only
3. Aand C Only
4 Aand B Only

Options :

22742752945, 1
22742752946. 2
22742752947. 3
22742752948. 4

Question Number : 112 Question Id : 22742713589 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



4 Y et

A TYTa Giftd - gredAl O Hefte de o i g8 ale oyl | fAaar gl
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B. U% fhsd (dan) forad [t afgar &1 SeR uran sirdr 4T

C. TYTTH GAdEIG! S5pid @l Udld

i S =

D. &g Afgen gr1. Afgar & forw T3

Hid feu e foeed & € 981 STk &1 99 Difoe:

1. »ad C AR D
2 ®dd B HR D
3 BATAMRC
4 Had A ARB

Options :

22742752945, 1
22742752946. 2
22742752947. 3

22742752948. 4

Question Number : 113 Question Id : 22742713590 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Johann Jacob Bachofen's Myth, Religion and Mother Right (1967) underlines the following regarding the folklores and position of women:
A Inearly days, marriage was highly institutionaliased without any frames of promiscuity

B. This study of myths petitioned matriarchy as the earliest human organization.

C. This work presented myths of the Amazon to prove the existence of ancient male-generations.

D. Folklore has played an indispensable role in defining the position of women.

Choose the comect answer from the options given below

1. Aand B Only
2.Band D Only
3.Band C Only
4 Aand D Only

Options :

22742752949. 1
22742752950. 2
22742752951. 3
22742752952. 4

Question Number : 113 Question Id : 22742713590 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



g A aalGe i i A s T A o R (1967) eherc et o e e R o il o e T ot (i) el ¢
A, s it o Tl et o i @ foe 9 " R SR o1

B. et e T e T SR G 75 ¢ € & o e

C. S G b ! ol s & O 9 1 e 1 19 1 g g oo 7

D, et Ayt R ot ofewRes et e s e fon

e T T ot o 8 ) O v T

1 FITAINB
) TqBIND
3 TR INC
4 TITAIRD

Options :

22742752949. 1
22742752950. 2
22742752951. 3

22742752952. 4

Question Number : 114 Question Id : 22742713591 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



|dentifiy the important domains of any language:

A grammatology and ideology

B. morphology, sonclogy, topology

C. phonology, morphology

D. syntax, semantics and pragmatics

Choose the correct answer from the options given below

1. Aand D Only
2. Cand D Only
3. B and C Only
4. C and A Only

Options :

22742752953. 1
22742752954. 2
22742752955. 3

22742752956. 4

Question Number : 114 Question Id : 22742713591 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



HIYT & Heaqul faug-a UgdiFe:

A SR a9 Ud fdaRyURT

B. 3MTepid Taxi FiFTcilol R e

C. TG, Adid-faA

D. Ii-fa Weard-fagH Ud W Hdd HINTRIRE &I 2]

Hid feu e foeed & € 981 STk &1 99 Difoe:

1. Had A AR D
2 HadC AR D
3. ®aAB AR C
4 HaAC AR A

Options :

22742752953. 1
22742752954. 2
22742752955. 3

22742752956. 4

Question Number : 115 Question Id : 22742713592 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



In the Margi-Desi dichotomy, the binary oppositions are represented between:
A classical and folk

B. traditional and new

C. radical and submissive

D. order and adventure

Choose the most appropriate answer from the options given below

1. C, B, and D Only
2. A CandD Only
3.A BandD Only
4 B, Cand D Only

Options :

22742752957. 1
22742752958. 2
22742752959. 3

22742752960. 4

Question Number : 115 Question Id : 22742713592 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



arff-c=i feuraq |, fanems ufaRid foae 7 uegd id 872

A 9T U4 A®

B. TNUFIAI U9 4

C. HH[o® Td fa-1d (31E)
D. TG U4 UEed

o Lol

i feu U fAwedl ° T T9 SUgad SR @1 94 DIl

1. ®%adC,B, D
2 ®adA, C, D
3. ®ddA B, D
4 ®aAB,C, D

Options :

22742752957. 1
22742752958. 2
22742752959. 3

22742752960. 4

Question Number : 116 Question Id : 22742713593 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List-l with List-ll

List-| List-llI

Persons Expertise
(A). Homi K. Bhabha ((I). Transcendental Signifier

(B).Derrida (II.End of metanarratives

(C). Lyotard (Il1). Meta- Anthropology

(D). James Clifford (V). Ambivalence

Choose the correct answer from the options given below:

1. (A) - (IV), (B) - (Il), (C) - (1), (D) - (1)
2. (A) - (IV), (B) - (), (C) - (In), (D) - (1lT)
3. (A) - (1), (B) - (11). (C) - (IV), (D) - (1)
4. (A) - (1), (B) - (IV), (C) - (1), (D) - (1)
Options:

22742752961. 1
22742752962. 2
22742752963. 3
22742752964. 4

Question Number : 116 Question Id : 22742713593 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Tl-1 & 1Y Gi-1l &1 FaE S

it Eial

A farasran

A. BIH! & HTHI || TR o9&
B. il II. 950 HREAH
C. ®ers I 95a 7 fage
D. o fFTws |Iv. 3y Hifdar

i feu T fadedl § § 9ad I0gad IR B 9d- DI

1. AV, B-ll, C-lll, D-l
2. AV, B-I, C-lI, D-lI
3. Alll, B-NI, C-IV, D-I
4 A, B-IV, C-l, D-lI
Options :
22742752961. 1
22742752962. 2
22742752963. 3

22742752964. 4

Question Number : 117 Question Id : 22742713594 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List-l with List-ll

List-| List-ll

Dance forms Characteristics
(A). Khomok (1). Mask Dance

(B). Bhangra (I1). Acrobat Performance

(C). Gotipua (I1I). Harvest Dance

(D). Purulia Chhoul|(IV). Musical Instrument

Choose the correct answer from the options given below:

1LA-IVB-1I,B-1.D,-I
2 A-l,B-IV,B-II.D, -
3A-NIB-IV,B-1 D, -1l
4 A—1lLB-IV,B-1 D, -1l
Options:

22742752965. 1
22742752966. 2
22742752967. 3

22742752968. 4

Question Number : 117 Question Id : 22742713594 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



- & 91y -1l BT A i

it -1l

9 &9 faf2eans

A EFS | FEeT Fa

B. TS II. HETET WeEA

C.TIEgan |l Fw Bels T4
D. QRicTa S|V, i are
- feu e fqmedl § § 964 3ugdd 3R &I 9a- BIed:

1. AV, B-lll, C-II, D-l
2. All, B-IV, C-ll, DI
3. Alll, B-IV, C-l, D-lI
4 A-ll, B-IV, C-1, D-lll
Options :
22742752965. 1
22742752966. 2
22742752967. 3

22742752968. 4

Question Number : 118 Question Id : 22742713595 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List-l with List-ll

List-l List-ll

Folk Forms States

(A). Tolubomalata (). Karnataka

(B). Kathputli (II). Andhra Pradesh

(C). Togalugombe Atta|(lll}. Assam

(D). Putul Naach (IV). Rajasthan

Choose the correct answer from the options given below:

1.A-I,B-IV.B-IlIl,D, -1
2 A-1ILB-IV,.B-1 D, -1l
3A-IVB-1,B-1,D, -1l
4 A-lLB-1,B-11,D, -1V
Options:

22742752969. 1
22742752970. 2
22742752971.3

22742752972. 4

Question Number : 118 Question Id : 22742713595 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



L -

Tl-1 & 1Y Gi-1l &1 FaE S

it Gial
s &9 e
A. Tl || dAles
B. HaYad 1. 3Ty W
C. ARTEIIE SET|lIL. 3/ FH

D OQq@aE IV, IeH

- feu e fqmedl § § 969 3ugdd 3R &I 9a Bied:

1. A, B-IV, C-lII, D-lI
2. A-ll, B-IV, C-1, D-lll
3. AV, B-l, C-II, D-lI
4 Al B-l, C-ll, DIV
Options :
22742752969. 1
22742752970. 2
22742752971.3

22742752972. 4

Question Number : 119 Question Id : 22742713596 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List-l with List-ll

List-l List-lI
Books Authors
(A). Folklore Genres (1). Barre Toelken

(B). Folklore Matters (). Richard Dorson

(C). Public Folkore (111). Ben Amos

(D). Dynamics of Folklore|(IV). Alan Dundes

Choose the correct answer from the options given below:

1LA-IVB-1I,B-1.D,-I
2A-1,B-1I,B-IV,D, -1l
3A-IVB-IILB-1 D, -1l
4 A-IlLB-IV,B-II.D, -1
Options:

22742752973. 1
22742752974. 2
22742752975. 3

22742752976. 4

Question Number : 119 Question Id : 22742713596 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



- & 91y -1l BT A i

- -1l
=D GRELD

A Timamal et |1 91 SaeA
B. digami fawg |1 fras s/A
C. & diwamat IIl. 3 TAE
D. Tiaral Bt Tififes|Iv. TeH 39
- feu e fqmedl § § 969 3ugdd 3R &I 9a Bied:

1. AV, B-lll, C-Il, D-l
2. Al B-lll, C-IV, D-lI
3. AV, B-Il, C-1, D-llI
4 A, B-IV, C-ll, D-I
Options :
22742752973 1
22742752974. 2
22742752975. 3

22742752976. 4

Question Number : 120 Question Id : 22742713597 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List-l with List-ll

List-l List-lI

Folk Forms States

(A). Nagal (). Odisha

(B). Pandavani (I1). Andhra Pradesh
(C). Pala (I11). Punjab

(D). Veedhi Natakam|(IV). Chhatisgarh

Choose the correct answer from the options given below:

1L.A-1,B-II,B-1,D, -1V
2 A-11,B-IV.B-IIl.D,-|
3A-NIB-IV,B-1 D, -1l
4 A-IV.B-Il,B-1D,-1l
Options:

22742752977.1
22742752978. 2
22742752979. 3

22742752980. 4

Question Number : 120 Question Id : 22742713597 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



L -

Tl-1 & 1Y Gi-1l &1 FaE S

- Tt
NG TS| Ric
A THa . S

B.Gsamt Il 3178 WeR
C. O lIl. ToTTE

D. fafimesa|Iv. adiaTe
- feu e fqmedl § § 969 3ugdd 3R &I 9g- Did:

1. A, B-lll, C-ll, DIV
2. A-ll, B-IV, C-lll, D-I
3. Alll, B-IV, C-l, D-lI
4 A1V, B-ll, C-1, D-lI
Options :
22742752977. 1
22742752978. 2
22742752979. 3

22742752980. 4

Question Number : 121 Question Id : 22742713598 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List-l with List-ll

List-| List-ll

Gods Per formances
(A). Lord Krishna  |(I). Surya Vandana

(B). Lord Maruti (11).5Suprabhat

(C). Lord Venkatesh|(lll). Rasleela

(D). Lord Dinakar |(IV). Hanuman Chalisa

Choose the correct answer from the options given below:

1.A-IVB-1,B-I,D,-ll
2A-IVB-IlLB-1D,-1l
3A-NI,B-IV,B-1 D, -1l
4 A-IlLB-IV,B-II.D, -1
Options:

22742752981. 1
22742752982. 2
22742752983. 3

22742752984. 4

Question Number : 121 Question Id : 22742713598 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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B. W¥TEH ARSIl U

C. YiTa deem|lll. e

D. HaH feAs=|Iv. §JAM =me
d feu Tt fadedl § § a9 Iugad IR &1 99 DIfG:

1. AV, B-l, C-lI, D-Ill
2. AV, B-Il, C-1, D-lI
3. Alll, B-IV, C-l, D-lI
4 A, B-IV, C-ll, D-I
Options :
22742752981. 1
22742752982. 2
22742752983. 3

22742752984. 4

Question Number : 122 Question Id : 22742713599 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List-l with List-l|

List-| List-lI

Methods of study Elements
(A). Field Research ((1). signifier and signified

(B). Textual Research((ll). Development and chronology

(C). Semiotic study  ((lll). Authentic text and context

(D). Historical (V). Questionnaire and information

Choose the correct answer from the options given below:

1A-IVB-II,B-1D, -l
2A-IVB-Il,B-II,D, -1
3A-ILB-IILB-IV.D, -1
4 A-1ILB-1lLB-IV.D, -1
Options :

22742752985. 1
22742752986. 2
22742752987. 3

22742752988. 4

Question Number : 122 Question Id : 22742713599 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



- & 91y -1l BT A i

- i1l

areAaH fafer @

A & =Y | g9 3 giud

B. UT31g =Yy || T g SrarHH
C. Siwla® HEaT (Il WIS U6 § deH
D. UidgTRIS S7eagH|IV. STaT 9 =1 Haml

d feu TTe fadedl § § ad Iugad IR &1 99 DIfG:

1. AV, B-lll, C-1, D-lI
2. AV, B-lll, C-ll, D-I
3. Al B-NI, C-IV, D-I
4 Al B-ll, C-IV, D-I
Options :
22742752985. 1
22742752986. 2
22742752987. 3

22742752988. 4

Question Number : 123 Question Id : 22742713600 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List-l with List-l|

List-| List-lI

Theories and Methods Elements

(A). Historical Geographical|(l). Enactment

(B). Functional Theory (11). Binary opposition

(C). Structural Theory (111). Needs Analysis

(D). Performance theory  |(IV).Ur-form

Choose the correct answer from the options given below:

1.A-l,B-1I,B-1,D,-IV
2A-1,B-1I,B-1I,D, -1V
3A-IVB-Il,B-II.D,-|
4 A-IV.B-Il,B-1,D,-1l
Options:

22742752989. 1
22742752990. 2
22742752991. 3

22742752992. 4

Question Number : 123 Question Id : 22742713600 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



- & 91y -1l BT A i

it -1l

g afafy dad

A. UfteTiae v fafd). sifimg

B. WA Raid 1. fe== wiagi
C. S-S Haid Il HTEEEan
D. weEH sl V. ST EY

d feu 7Tt fadedl § § a9 Iugad IR &1 99 DIfIG:

1. Adlll, B-ll, C-I, DIV
2. Al B-ll, Cll, DIV
3. AV, B-lll, C-ll, D-I
4 AV, B-ll, C-1, D-lI
Options :
22742752989. 1
22742752990. 2
22742752991. 3

22742752992. 4

Question Number : 124 Question Id : 22742713601 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List-l with List-ll

List-| List-llI

Folk Forms States
(A). Bhand Pather|(l). Maharashtara

(B). Powada (1. Jharkhand and Odisha

(C). Bayalata (Ill). Karnataka

(D). Chhau (V). Jammu & kashmir

Choose the correct answer from the options given below:

1.A-IVB-1,B-IlI,D, -1
2 A-11,B-1IILB-1,D, -1V
3A-IVB-Il,B-II.D,-|
4 A-llLB-IV,B-1,D, -1l
Options:

22742752993. 1
22742752994. 2
22742752995. 3

22742752996. 4

Question Number : 124 Question Id : 22742713601 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Tl-1 & 1Y Gi-1l &1 FaE S

it -
L S
A. YIS UIUR||. HERTY

B.UES] |Il. IRES g fifsaEm
C. Tl |IIl. TAeH

D ®& |V 9HdHER
d feu TTu fadedl § § ey Iugad IR &1 99 DIfIG:

1. AV, B-l, C-llI, D-lI
2. Al B-lIl, C-l, DIV
3. AV, B-lll, C-ll, D-I
4 A, B-IV, C-I, D-lI
Options :
22742752993, 1
22742752994, 2
22742752995. 3

22742752996. 4

Question Number : 125 Question Id : 22742713602 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List-l with List-ll

List-| List-lI

Fields Experts
(A). Allomotif, motifeme (). Von Sydow

(B). Etic, Emic (II). Alan Dundes

(C). Active, Passive (). Levi Strauss

(D). Mytheme, Para- digmatic|(IV). Kanneth Pike

Choose the correct answer from the options given below:

1.A-IVB-1,B-I,D,-ll
2 A-1LB-IV,.B-1 D, -1l
3A-II,B-IV.B-IID,-|
4 A-IV.B-Il,B-1,D,-1l
Options:

22742752997. 1
22742752998. 2
22742752999. 3

22742753000. 4

Question Number : 125 Question Id : 22742713602 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Tl-1 & 1Y Gi-1l &1 FaE S

- -l

& [ERIER]

A UTHeE Aifesy || 9F "igsl

B. TAERUE, SdaeIa|||. UaH §ad

C. Tfsg, Fiseg 1. Ti6l |1

D. 75y, O - f5@fes v Fuuss

-Td feu e foseal § 9§ 9y 30gad SR &1 9a- DIToe:

1. AV, B-l, C-lI, D-Ill
2. A-ll, B-IV, C-1, D-lll
3. A-ll, B-IV, C-lll, D-|
4 AV, B-ll, C-1, D-lI
Options :
22742752997. 1
22742752998. 2
22742752999. 3

22742753000. 4

Question Number : 126 Question Id : 22742713603 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Sequence the terms : Genetology, Paremiology, Enigmatology and Philology according to their areas of study:
A study of riddles

B. Study of Humor

C. Historical study of canonical texts

D. Study of Proverbs

Choose the correct answer from the options given below:

1.ADCB
2.B,D,AC
J3.AB,CD
4 C,B,DA



Options :

22742753001. 1
22742753002 2
22742753003. 3
22742753004. 4

Question Number : 126 Question Id : 22742713603 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Saerion, g3, THTHeraren AR e Seal & AT &7 & HT9R 39T HIPHH sd2U
A Tefrdl &1 3femgd

B. UNEE &1 3

C. 4 AT Tl BT HeaT

D. Felad! Bl T

e fSu 770 fodedl & 9 U SR @1 99 Bt

1.A,D,C,B
2.B,DAC
JA B CD
4 CBDA

Options :

22742753001. 1
22742753002. 2
22742753003. 3
22742753004. 4

Question Number : 127 Question Id : 22742713604 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Sequence the phobias Pneumatiphobia, Phasmophobia, Hagiophobia, Zeusophobia in the order of their meaning
A Fear of Gods

B. Fear of saints

C. Fear of ghosts

D. Fear of spirits

Choose the correct answer from the options given below:

1.C,D,A B
2.ADB,C
3.0,C,B A
4 CABD

Options :

22742753005. 1
22742753006. 2
22742753007. 3
22742753008. 4

Question Number : 127 Question Id : 22742713604 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



AT, BrRATmIe, SR e Sqaeied & o & SR 3 Wiedl T8 3 e B
A, ST B 4

B. Tall &1 ¥

C. Ydi &1 4T

D. Tid T3 &1 49

4 feu o fodedl © @ T8 S @1 99 Fifer

1.C,D,A B
2ADBC
3.D,C,BA
4 CABD

Options :

22742753005. 1
22742753006. 2
22742753007. 3
22742753008. 4

Question Number : 128 Question Id : 22742713605 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Sequence the steps of structural analysis of myth according to Levi Strauss:
A Interpret synchronically and diachronically

B. Arrange them

C. Break into mythemes

D. Select the myth

Choose the correct answer from the options given below:

1.A,B,C,D
2D C BA
3AD,C B
4 B,CAD

Options :

227427530009. 1
22742753010. 2
22742753011. 3

22742753012. 4

Question Number : 128 Question Id : 22742713605 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



4l LY & HUR Bys & WA Ay & [ o &1 o 60 JaRt:

A TSI AR e eff ¥ surem oife

B. 3 odaiyd difog
c. fusH ¥ dreox fafau

D. Fy® &1 999 &

=t fau U fadedi & ¥ Ug1 IR &1 99 Bifog

1.AB,CD
2D C BA
3AD,C B
4 B,CAD

Options :

227427530009. 1
22742753010. 2
22742753011. 3

22742753012. 4

Question Number : 129 Question Id : 22742713606 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Sequence the gods Agni, Kubera, Shani, Yama-with their vehicles:
A Buffalo

B. Man

C. Crow

D. Ran

Choose the correct answer from the options given below:

1.A,B,C,D
2D B, CA
3AD,C B
4 CA B D

Options :

22742753013. 1
22742753014. 2
22742753015. 3

22742753016. 4

Question Number : 129 Question Id : 22742713606 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



HH, He, [H TH, & dle-1 Gigd 34 add13il @1 fshH MURd Difey
A T

B. JATGHI

C. DIl

— i o

F O Ot IR &1 99 Pifer

Options :

22742753013. 1
22742753014. 2
22742753015. 3

22742753016. 4

Question Number : 130 Question Id : 22742713607 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



sequence the scholars in the order of their engagement with the concept of rites of pagane”:
A Van Gennep

B. Victor Turner

C. Mary Douglas

D. Malinowski

Choose the correct answer from the options given below:

1.A B CD
2D BAC
3CABD
4 A DCB

Options :

22742753017. 1
22742753018. 2
22742753019. 3
22742753020. 4

Question Number : 130 Question Id : 22742713607 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



VEY A TS ST HTYRUN & WY 31 Yol & R f[gH & g Fuiia ik
A 4 SHT

B. fadR &R

C. Bl SITe

D. AfcHIa%e!

i f&u U famedl 3 € T51 SR @1 94 Bt

1A BCD
2.D,B,AC
3.CLABD
4 ADC,B

Options :

22742753017. 1
22742753018. 2
22742753019. 3

22742753020. 4

Question Number : 131 Question Id : 22742713608 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Sequence Propp’s functions of 'villainy' in their correct order as elaborated in his "Morphology of the Folkiale’
A Kidnapping a person

B. The threat of cannibalism

C. Declaration of war

D. False substitution

Choose the correct answer from the options given below:

1.C,B,D,A
2.B,D,CA
3.C,D,BA
4 ADB,C

Options :

22742753021. 1
22742753022. 2
22742753023. 3

22742753024. 4

Question Number : 131 Question Id : 22742713608 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



1T o HTicion 1 e Bibea H fav 70 famre aui & FER TP Sder (fdeH) Wi @1 o FeiRd sife

A. fepell T 7 Ry

B. TRYE & G

D. e wicRye

T few e fodedt | 9 8 SR @ T I

1.C,B,D,A
2.8,D,CA
3.C,D,B,A
4ADBC

Options :

22742753021. 1
22742753022. 2
22742753023. 3
22742753024. 4

Question Number : 132 Question Id : 22742713609 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Sequence the following translation of Kalidas's Meghadutam in an ascending order:
A. Sankara Kurup (Malyalam)

B. Kundeshwar Barthakur (Assamese)

C. Parmananda Datta (Maithili)

D. Nanalal Dalpatram (Gujarati)

Choose the correct answer from the options given below:

1.B,D,C A
2.C,B DA
3.B,D, C A,
4 B,CAD

Options :

22742753025. 1
22742753026. 2
22742753027. 3

22742753028. 4

Question Number : 132 Question Id : 22742713609 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Ly

PBIfcIGrg & HUGAH & HUIRad 3dral i SRIg! HH H odayd Difod:

A. TP TeY (HIAITH)
B. $eaR Frufe (argfim)

C. UXHME & (M)

D. THETA GaidaH (o)

=t fau U fadedi & ¥ Ug1 IR &1 99 Bifog

1.B,D,C A
2.C B,DA
3AD,C B
4 B,CAD

Options :

22742753025. 1
22742753026. 2
22742753027. 3

22742753028. 4

Question Number : 133 Question Id : 22742713610 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Sequence the Indian texts from Sanskriti, Kannada Tamil and Gujarati with the following publications:
A. Tantra Khyayika, C. 1200 C.E.

B. Karnataka Panchtantram, 1031 CE.

C. Punchopakhiyam, 1624 C.E

D. Hitopadesha, C 600-850 C.E.

Choose the correct answer from the options given below:

1.C,D,A B
2.B,D,CA
3.C,ABD
4 D,BAC

Options :

22742753029. 1
22742753030. 2
22742753031. 3
22742753032. 4

Question Number : 133 Question Id : 22742713610 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



e -

feRad Wbl & Ty G&pd, Bee, diira Y ol & YRdTg U4 &1 o6 Ryffa sifee
A. TR, 9. 1200 93

B. Hicd Udaa, 1301 €13

C. UdIURaH, 1824 T3

D. fediuew, & 600-850 ¥ 3

id few U fawed! © T T SR @1 95 i

1.C,D,A. B
2.B,D,CA
3CABD
4 D, BAC

Options :

22742753029. 1
22742753030. 2
22742753031. 3

22742753032. 4

Question Number : 134 Question Id : 22742713611 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Sequence the scholars - Birendranath Datta, Kailashpathy, Paramashivaiah and Wanjana Bedi with their mother tongue
A Tamil

B. Assam

C. Kannada

D. Punjab

Choose the correct answer from the options given below:

1.B,ACD
2.C,D,A B
3.D,AB,C
4 C,ABD

Options :

22742753033. 1
22742753034. 2
22742753035. 3
22742753036. 4

Question Number : 134 Question Id : 22742713611 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



S5y G, DI, WA 3R aie de ol fdg i &1 A1gHIeT & 1Y 3T 3igd Fiia S
A. T

B. SraHa

C. %78

D. UeTrsi

i few e faded | T 91 SR &1 95 Dol

1.B,A,C,D
2.C,D,AB
3.0,AB,C
4 CABD

Options :

22742753033. 1
22742753034. 2
22742753035. 3

22742753036. 4

Question Number : 135 Question Id : 22742713612 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Sequence the epic heroes- Rama, Hanuma Krishna andVishnu who killed the following demonesses in Hindu mythology:
A Lankini

B. Holika

C. Putana

D. Tataka

Choose the correct answer from the options given below:

1.ABCD
2.0,B,CA
3.D,ACB
4.C,D BA

Options :

22742753037. 1
22742753038. 2
22742753039. 3
22742753040. 4

Question Number : 135 Question Id : 22742713612 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



fee WA & Frftes Sl 1 GeR @ da HRTaT) & 10a- I, SAM, HW 3R W] & 3 i g
A Tife!

B. gifcaT

C. Gl

D. digdl
e feu o fo@edt A 8 961 O &1 99 g

1.ABCD
2.D0,B,CA
3.0,ACB
4.C,D,BA

Options :

22742753037. 1
22742753038. 2
22742753039. 3

22742753040. 4

Question Number : 136 Question Id : 22742713613 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

(Given below are two Statements - one Is labelled a5 Assertion Aand the other is labelled as Reason R

Assertion A: Enculturation Is the process whenn the culture teaches an individual the acceptad norms and values of the culiure where the
individual lives.

Reason R : Acculturation comprises those changes produced in a culture, by the influence of anather culture which results in increased
similarity of the two.

In the light of the above statemant, choose the most appropriate answer from the options given below:

1. Both Aand R are comect and R is the correct explanation of A.

2. Both Aand R are correct but R is NOT the correct explanation of A
3. Als correct but R is not correct

4 Ais not correct but R s correct



Options :

22742753041. 1
22742753042, 2
22742753043. 3

22742753044. 4

Question Number : 136 Question Id : 22742713613 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A & H RUUR: W AR (Assertion A) & ¥ H fofied 3 o GORT 300 RV (Reason R) & EU T

G A TG T T & (o T, 38 TR & e T T 310 i 1 S FTc.o) R 1 @1 T8 T e

RY R TR ToTRU B G S o U479 1 S & 4 UG SIEaTen o, o TR0 S0 G ) 9l & 9 2 ¢l
e B & e A, T e foded 1 4 R QU S 1 9 die

1 AR REH T8 § R R AT 08 A 3

2. AR R EH1 T8 3 e A 31 O8] arel T 2

AT A R T 8

L AR TE R AR R

Options :

22742753041. 1

22742753042, 2

22742753043. 3

22742753044. 4

Question Number : 137 Question Id : 22742713614 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements:

Statement | - Derrida uses the term ‘Differance’ to describe the origin of presence and absence.

Statement || - ‘Differance’ may be the condition for that which is deferred and may be the condition for that which is different.
In the light of the above statement, choose the most appropriate answer from the options given below:

1. Both Statement | and Statement [l are correct

2. Both Statement | and Statement Il are incorrect
3. Statement | is correct but Statement Il is incorrect
4 Statement | is incorrect but Statement Il is correct

Options :

22742753045. 1
22742753046. 2
22742753047.3
22742753048. 4

Question Number : 137 Question Id : 22742713614 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

e e Rume,

SR |- SR 9 faWe Teg &1 HUIT SURR R HuRuf o 7 @i fadfad o o e % 3

SR |- S 34T B 26l 31 Tl & [ g (09 b gRI faWTed o AR J9e [0 Il & el & 1oredl dg 49 ¢
SWRIed B o il §, i U ¢ fadhed! H ¥ Ty JUga IR &1 95 Sl

1 BRU | IR 11 S wE 2
2 FRU| R 1| i T
3. BRU | eI &, <lfdh & || e &
4 SR | T 3, Qe o 11 8T &

Options:
22742753045. 1
22742753046. 2

22742753047. 3



22742753048. 4

Question Number : 138 Question Id : 22742713615 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

(iven below are two statements:

Statement | - Contextual folklorists' leaning towards verbal behavior functionalism, role - playing and ego mechanisms apply these perspectives
o the folklore traditions.

Statement || - Contextual studies aim &t introducing the atomistic rather than holistic study of the unique social experience.
In the light of the above statement, choose the most appropriate answer from the options given below

1. Both Statement | and Statement II are correct

2 Both Statement | and Statement Il are incorrect
3 Statement [ is correct but Statement Il is incorrect
4 Statement | is incorrect but Statement I s correct

Options :

22742753049. 1
22742753050. 2
22742753051. 3
22742753052. 4

Question Number : 138 Question Id : 22742713615 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1 TR0 IR
) BRI 13
3 TRV T, e o 11 Tl
4 TRV T g, A T 1

Options :

22742753049. 1
22742753050. 2
22742753051. 3
22742753052. 4

Question Number : 139 Question Id : 22742713616 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

(Given below are two Statements * one 15 labelled a5 Assertion Aand the other is labelled as Reason R

Assertion A Freud analyzed dreams on the basis of the manifest content of dream images, while Jung focused on the underlying content of the
dreams.

Reason R : Dreams reveal more than they conceal. They are a natural expression of our imagination and use mythic namatives.
In the light of the above statement, choose the most appropriate answer from the options given below:

1. Both Aand R are comect and R is the correct explanation of A.

2. Both Aand R are correct but R is NOT the correct explanation of A.
3. Als correct but R is not correct

4 Als not correct but R is correct

Options:

22742753053. 1

22742753054. 2



22742753055. 3
22742753056. 4

Question Number : 139 Question Id : 22742713616 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

10 31 T RT3 W N (Asserton A) % 0 ¥ iR & o 1 9 @RV (Reason R) & ¥4 &
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Options:

22742753053. 1

22742753054. 2

22742753055. 3

22742753056. 4

Question Number : 140 Question Id : 22742713617 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two Statements - one is labelled as Assertion A and the other is labelled as Reason R

Assertion A : A research design is a blueprint that guides the use of a research method and analysis of data.
Reason R : A research design is in no way connected with the expression of causal relations between the variables.
In the light of the above statement, choose the most appropriate answer from the options given below:

1. Both Aand R are correct and R is the correct explanation of A.

2. Both A and R are correct but R is NOT the correct explanation of A.
3. Als correct but R is not correct

4 Als not correct but R is correct

Options :

22742753057. 1
22742753058. 2
22742753059. 3
22742753060. 4

Question Number : 140 Question Id : 22742713617 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A4 &l B U U E: U e (Assertion A) & 0 1 fif@d 8 d GUR1 34 SRU (Reason R) & €4 H;
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TR B & 3Nl H, Tl U U faepedi # T Ga¥l Iged IR &1 95 Bifery
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Options:
22742753057. 1

22742753058. 2

22742753059. 3



22742753060. 4

Sub-Section Number : 2
Sub-Section Id : 227427533
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Id : 22742713618 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (141 to 145)

Question Label : Comprehension

Read the following passage

“Pullyou skt down”, “don't cry like & gir” "speak softly you are a gir". "oe aman", many of you must have faced these rebukes while you were
growing up. These are some of fhe common phrases that are used as part of our socialization and enculturation process while we are growing
Up. Cultivating such behaviors leads to the creation of gender-specific roles, whal we are supposed to do or not supposed to indulge in as a male
orafemale. Herein, there would arise numerous questions in your mind, fike why should a girl and a boy have different upbringings? Why
different codas of conduct and behavior for boys and qirls? Why can't a boy cry? Why are boys are not allowed to express their emotions in
public or with tears? When hurt physically we cry out in pain, but why Is a boy asked to control is tears and be a man'? like wise, a qir is
expected to walk like & lady speak softly thus. from the very childhood the construction of gender-specific behavior roles and responsinilties
fakes place. This we can relate here to Simone de Beauvoir's apt description one is not bom, but made & women’ meaning the feminine
qualities in a female child is not genetic, but acquired as par the societal norms through the socialization process. These are some of the gender-
related questions

Sub questions

Question Number : 141 Question Id : 22742713619 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



What, according to you, are the basic motifs of the above passage?

1. Language preservation and gender archiving
2. History, music, mimesis and gender

3. Oral-written continuum

4 Issues related to gender and folklore

Options :

22742753061. 1
22742753062. 2
22742753063. 3
22742753064. 4

Question Number : 142 Question Id : 22742713620 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements:
Statement | : Feminine qualities in & female child is not genetic, but acquired as per the socital norms through the socialization process.

Statement || - Feminism s a political ideology and methodlogy that tends to reveal the roots of the patriarchal set-up and the power relations
involved init

In the light of the above statement, choose the most appropriate answer from the options given below:

1. Both Statement | and Statement |l are correct

2 Both Statement | and Statement Il are incomect
3. Statement | is correct but Statement Il is incorrect
4 Statement | is incorrect but Statement Il is correct

Options :

22742753065. 1
22742753066. 2
22742753067. 3
22742753068. 4

Question Number : 143 Question Id : 22742713621 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

When Simone de Beauvoir writes, "One is not born but mads a woman’ she means:

1. We have to understand ‘sex’ and 'gender vis-a-vis gender studies, women's studies and feminism and decide, If they are and the same.
2. The cultural norms do vary from a matrilineal society to a patrilineal one.

3. Gender. being a social construct, converts a biological into a social being called woman.

4 When gender studies take it up as a subject of study, they would look into the roles of both men and women based on labor

Options :

22742753069. 1
22742753070. 2
22742753071.3

22742753072. 4

Question Number : 144 Question Id : 22742713622 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

What, according to this passage, are the reasons behind gender inequality in our society?
A Psychoanalysis of human character

B. Norms set up by the society

C. Behavioural norms which are created by the individual

D. Grooming and upbringing

Choose the correct answer from the options given below

1. Band C Only
2. Band D Only
3. Aand B Only
4 CandD Only

Options:

22742753073. 1



22742753074. 2
22742753075. 3

22742753076. 4

Question Number : 145 Question Id : 22742713623 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Given below are two Statements - one is labelled as Assertion A and the other is labelled as Reason R

Assertion A In the movie ‘Boys Don't Cry', a boy is not allwed to cry publicly because he is expected fo 'be a man'.

Reason R : By the term 'be @ man', we understand that he is expected to be socially, emotionally, sexually and ethically correct.
In the light of the above statement, choose the most appropriate answer from the options given below

1. Both Aand R are correct and R is the correct explanation of A

2 Both Aand R are correct but R is NOT the correct explanation of A.
3. Als correct but R is not correct

4 Als not correct but R is correct

Options :

22742753077. 1
22742753078. 2
22742753079. 3

22742753080. 4

Question Id : 22742713618 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (141 to 145)

Question Label : Comprehension



frfeien a7 @1 Taeee 0 e i 3 e o e g

SR 91 T B 0 G U8 S hemR o S R 2, e A e 8 e T e R 9, e 1 A
35 U o T R o, 6 3 1 210 G o i SRl o 0 e o o7 31 B8 i) & TR
ff e e T 3 2 o 0 e R 6 R 6 S 9 v ] A5 T 0 9 96 o o O e
ST T35 1 -1 0 T 1 il iR gl Tt e i gt o g -] 1 i ) g 0 7l 4
T 87 7501 91 1 a1 T MG e 5o T 3 0 S 0 7 2 TR R e e £ 1 9 U1 4 0 § T e o
St e ) o o o 0 v T 1 06 7 4 e (1) 1 o o, U8 4 e 91 91 31 T R
U 8 2 oy g, vt ok vt o o 2 3 R, 57 R & 1 & 0 0 o 061 e €, o
% T ¢ 4 50 1 5 o, e o, T ) R o 0 s 8 2, 9 ol a1 5 & 1 9
T SR TV ot 71 3§ 5 f- o )

Sub questions

Question Number : 141 Question Id : 22742713619 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
U SR ST T & HIHIG &1 52

1. Y191 EI&0T g {eiT U o1
2 gfdgr, §iiid, 3@l g foif

4. o1 9 clidaral § Hefdd g
Options :

22742753061. 1
22742753062. 2
22742753063. 3

22742753064. 4

Question Number : 142 Question Id : 22742713620 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742753065. 1

22742753066. 2

22742753067. 3

22742753068. 4

Question Number : 143 Question Id : 22742713621 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742753069. 1
22742753070. 2
22742753071. 3

22742753072. 4

Question Number : 144 Question Id : 22742713622 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742753073. 1
22742753074. 2
22742753075. 3

22742753076. 4

Question Number : 145 Question Id : 22742713623 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
A @ o GUTU R W@ @ (Assertion A) & U H i 2 o GR1 38 @RV (Reason R) & €Y 7

G A S Sl 715 e e B 0 o ol v b W U1 ) e T o O G 1 ) e a6 o 2
U R 76 1 05 5 51, 57 R o O s, e, s i 0 0 8 61 6 1 ol 1 o g

SRIT DY & i §, Fd [GU T faedl & § G SUY I @1 9 B

1 ASRREH T8 8 AR R A T8 o 8

2 AR RGHI TEl 3 i R AT T8 T T
JATRIHIR T T
LATI TR AR T



Options :

22742753077. 1
22742753078. 2
22742753079. 3

22742753080. 4

Sub-Section Number : 3
Sub-Section Id : 227427534
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Id : 22742713624 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (146 to 150)

Question Label : Comprehension



Read the following passage

This story comes from the Minyongs who live by the river Siang in the north east frontier. They have imagined the earth as a woman and sky as a
man and that when they married and came together the spiits, animals and humans were afraid of geffing crushed between them and so, Sedi-
Diyor, one of the greatest spirits started beating the sky The sky fled far up info the heaven. In the meantime, eari gave birth to two daughters
but she was heartbroken due to her separation from the sky and so she did not take care of the girls. One day, when the woman who reared
them died and was buried, bath the sisters wept so much that they too died. and along with them, the light also died. Now, the earth was
drowned in darkness and everybody - spirit humans and animals - was afraid. They could not understand the deep love which the little girls had
felt for the woman who, to them, was their mother in the real sense, and concluded that the woman must have stolen something from the girls
and that is why they had cried so much and had eventually died. And so. they dug up the earth to find her body. But the body had rotted away,
and what they found was & pair of hier eyes. Now the eyes were shining brightly and when they saw their own refiections, they thought it were the
two little girls who were living nside those shining eyes. Thay tried their best to bring them out, washed the eyes under a siream for five days and
five nights, and ultimately it was carpenter who cut ine eyes open and the reflections tumed into two [iving girls whom they named Sed-Irkong-
Bomong and Sed-Irkong-Bong. Thay were kept inside a house and were taken care of. They grew up. One day, Sedi-Irkong-Bomong wore gally
colored clothes and many omaments and came out. As she came out, it was day since there was light shining from her and she kept on walking
and went across the hills and never retumed. The younger sister when went in search of her, the light shone so infensely that the rocks broke,
the trees withered and people and animals and birds al fainted. All of them then decided to kil her and it was the frog that shot arrows at her and
killed her. The moment she was killed, light began o go from the earth. The rat camied her body to a river from where the older sister would pass
and while carrying the body, the rat fell down again and again and since then the rat’s legs have become crooked. When Bomong saw her
sister's body, she wept out of somow as well as fear and hid herself in a cave drowning the earth in complete darkness. When rat, wild bird, and
cock were sent o find the missing girls, it was the cock that found her. When she refused to come out fill her sister was brought back to life, the
carpenter was called to do so. The carpenter made a small body so that her light would not be too bright to make rocks break, trees wither and
fumans faint. And 50, it became the moon. And when Bomong heard her sister was again alive, she threw away the stone and stood up. The day
refumed and along with it the different sounds, he cocks 'kokoko-kokoko', the wild bird's ‘pengo-pengo’ and the rat's squeak takiak-taktak

Sub questions

Question Number : 146 Question Id : 22742713625 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The above passage can be summarized as:

1. Indian iconography of the sun and moon

2. Solar mythology and Lunar Mythology

3. Sun and moon in Indian traditions

4 Folktale and moral tale of the sun and the moon

Options :



22742753081. 1
22742753082. 2
22742753083. 3

22742753084. 4

Question Number : 147 Question Id : 22742713626 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The passage can be theorized under

Ecological research
Folklore and gender
Post — colonialism
Post-modernism

o Pk

Options :

22742753085. 1
22742753086. 2
22742753087. 3

22742753088. 4

Question Number : 148 Question Id : 22742713627 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Sedi - Irkong- Bomong and Sedi-rkong Bong's association with the sun, moon, animals, earth, spirits, colours etc can be associated with:

1. Comparative Phiology
2. Magical Realism

3. Romantic Nationalism
4 Concept of Diffusion

Options:

22742753089. 1



22742753090. 2
22742753091. 3

22742753092. 4

Question Number : 149 Question Id : 22742713628 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

(iven below are two statements:

Statement | - The carpenter made a small body so that her light would not be too bright to make rocks break. trees wither and humans faint and
50, it became the moon

Statement Il - Deconstruction unfolds the meaning of a text in search of its textuality; memories, myths and legends are deconstructed in the
above folk text as a confinuous and sbtle process.

In the light of the above statement, choose the most appropriate answer from the options given below

1. Both Statement | and Statement Il are correct

2 Both Statement | and Statement Il are incorrect
3 Statement [ is correct but Statement Il is incorrect
4 Statement | is incorrect but Statement I s correct

Options :

22742753093. 1
22742753094, 2
22742753095. 3

22742753096. 4

Question Number : 150 Question Id : 22742713629 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Match List-l with List-ll

List-| List-1l

Words Devices

(A). Pengo-Pengo (1. Personification
(B). Taktak-taktak (1. Alliteration

(C). Rat carrying her body|(lll). Assonance

(D). KoKoKo - KoKokKo  |(IV). Rhyming

Choose the correct answer from the options given below:

1LA-IVB-I,C-1ID,-I
2 A-lLB-IL.C-I,D-1IV
3A-1L,B-Il,C-IV.D-II
4 A-1l,B-1IlLC-1IV,D-I
Options:

22742753097. 1
22742753098. 2
22742753099. 3

22742753100. 4

Question Id : 22742713624 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (146 to 150)

Question Label : Comprehension
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Sub questions

Question Number : 146 Question Id : 22742713625 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :



22742753081. 1
22742753082. 2
22742753083. 3

22742753084. 4

Question Number : 147 Question Id : 22742713626 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742753085. 1
22742753086. 2
22742753087. 3

22742753088. 4

Question Number : 148 Question Id : 22742713627 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742753089. 1



22742753090. 2
22742753091. 3

22742753092. 4

Question Number : 149 Question Id : 22742713628 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742753093. 1

22742753094, 2

22742753095. 3

22742753096. 4

Question Number : 150 Question Id : 22742713629 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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1. AV, B-l, C-llI, D-lI
2. Al B-Il, C-, DIV
3. Al B-lll, C-IV, D-lI
4 Al B-ll, C-IV, D-I
Options :
22742753097. 1
22742753098. 2
22742753099. 3

22742753100. 4



